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��� �������	��������� ����� "����	������)���������� � � � � � � � � � �*
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��� -�������� ����	 "����	�����
���������	 ��� .��������
��  ��!

���� 
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������'� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �&

��0 1�������	����  ������ ��� ��������� 2�������������� Tm$ ���

3������������� TW ��� ��� 3���/)���	���������� q̇W ���
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��* 1�������	����  ������ ��� �5����	����  �	��	��)� η$ ��� 3)�!

�������)������� λ ��� ��� 	��
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cp ��� ��� ��������	 7������������6� T (y) �� ����� �����
���

+��� #���  ���)��� 	��� ����� ������'� � � � � � � � � � � � � � � � ((

��, 1��
�6	��� �	����� 3)�������
��)� cp$ 3)��������)������� λ$

"����� ρ ��� �5����	���  �	��	��)� η ��	 �)���������	 +134�

�� 7���������������� 
�� −10 ◦C ��	 170 ◦C ��� ����� ����!

�����	���� "���� p 
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"������ 8.0� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 1%

��-� ���������
 ��� ��!���� )��2�� 
� "���	��2�� ��� (���! (px/ps)

��� 3��������� (Tx/Ts)# ��!��� �������	
	�
��$����	!����� wx


�$�� ��$������	�� ΔT # Δp ��� Δwx ���� ��� ��!���� 4����

5��� Max� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 1�

��-6 7�!��� 4����5��� Max ���� ���  ���������������
 (Amin/Ax)� 8.
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 0���
����
 
�� ��	�
$�����������	��	� � � � � � 8%

6�� ��	�
$�����������	��������9� �� ��� 	�
���������� 0��
��!�

������
������	� � � � � � � � � � � � � � � � � � � � � � � � � � � � � 8�

6�6 3����������� T ��� ����!����
���� *���!
+ ��� �����!����
����

������������	��	 *�����
+ ���� ��� �������	���� ������


���� Q̇� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �.

6�% /�������������� ��
 :��� ��	�
�������# �����
��������� "���


�� 7��	

������ 
�� �������	
�������	 *���!
+ ��� �� ;�����

�� ��� ���
���� *�����
+� � � � � � � � � � � � � � � � � � � � � � � �1

6�, /�������������� ��
 ���	
 ��� ��	�
 ��
�������# �����
�����

����� "���
 �� 7��	

������ *���!
+ ��� �� '���
������ *�����
+


�� �������	
�������	� � � � � � � � � � � � � � � � � � � � � � � � �8

6�1 �����
���� ��� "������
��

��	 Q̇ *�9���� Δ+ ��� /�������

�����

��
���� ��
 ��

���)�9!���)���
��
 ṀWG *�9���� o+

���� ��� ��	�
��

��
���� ṀAb *ϑAb,e ≈ 450◦C# ϑWG,e ≈ 23◦C+� &6
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��� �������������	����
������ ��� ����		���� αAb �Δ� αAb�ṀAb,max�

ṀWG,max � o� αAb�ṀAb,min� ṀWG,min ! ��� ��� "���������	����

αWG �x� αWG�ṀAb,max� ṀWG,max � �� αWG�ṀAb,min� ṀWG,min !

���� ��� ���������� "������������������� (Lx/Lm)� � � � � � � � #$

��% �������������	����
������ ��� ����			���� αAb ���� ��� ���&

����������	����
������ ��� "���������	���� αWG ��� '�(�&

���
��		��� �Δ� )����� B1Ab,q1� o� )����� B2Ab,l� x� )�����

B3Ab,q2 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � #�

��# *+,������������ �����	���� Q̇ �-.���� Δ � �����	���� ���

-���������	�������� Q̇sim �-.���� x ��� ��� ��������������

-���������	�������� Q̇sim,unkor �-.���� o ���� ��� ����	&

��		��	���� ṀAb� � � � � � � � � � � � � � � � � � � � � � � � � � ##

��/0 �����	���� ��� -���������	�������� Q̇sim �-.���� o � ���

�������������� -���������	�������� Q̇sim,unkor �-.���� Δ ���

���	,�������� ������
� ��1��������� ΔQ̇ �-.���� � ��� ΔQ̇unkor

�-.���� x ���� ��� �����	���� ��� '�(����
��		��� Q̇� � � /00

��// ��	�����	���,������ ��	 "����������	 ϑKm,a �-.���� Δ ���

"������������		��	���� ṀKm �-.���� o ���� ��� "�������&

�������� �� 2��
�� pKm,H �ϑAb,e ≈ 500 ◦C� ṀAb ≈ 500 kg/h�

ṀKW ≈ 1, 2 kg/s� ϑKm,e ≈ 13 ◦C � � � � � � � � � � � � � � � � � � /03

��/3 "������������		��	���� ṀKm ���� ��� ����	��		��	���� ṀAb

�ϑAb,e ≈ 500 ◦C � � � � � � � � � � � � � � � � � � � � � � � � � � � /0�

��/� ��	�����	���,������ ��	 "����������	 ϑKm,a �-.���� Δ ���

"������������		��	���� ṀKm �-.���� x ���� ��� "�������&

�������� �� 2��
�� pKm,H � � � � � � � � � � � � � � � � � � � � � � /04

��/4 5�6����
�� ��� 	,�
�7	���� *�����,�� ΔhKm,H ��� ��� �����&

����������� �� p&h&5������� (�� ��� 8�������� ��	 "�������&

��������	 ��	 ���� ��//� � � � � � � � � � � � � � � � � � � � � � � /0�

��/$ 9����������� �����	���� Q̇über ��� Q̇unter ���� ��� ����	&

��		��	���� ṀAb ��� ��� ����	��������	���,������ ϑAb,e ��	

:�������� �Δ� 450 ◦C� o� 500 ◦C� x� 550 ◦C � � � � � � � � � � � � /0%
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� ΔpAb ()*���� Δ+ ��� "����������
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$��,
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ṀAb� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ���

���- ��	�
� ��� $����������
����	� "����!���	��	
$��,
������ αAb

��� αKm �� !���$����
���� '���$������� !��� ��� ����������

������������������	� (Lx/Lm) ��� ��� ���������������$ pKm,H

��
 .�������� (Δ/ 50 bar� o/ 45 bar� x/ 42 bar+� (ϑAb,e ≈ 500 ◦C�

ṀAb ≈ 500 kg/h+� � � � � � � � � � � � � � � � � � � � � � � � � � � ���

���0 �����������
����	�� �����$��� �$��� KT,über !��� ��� ����������

������������������	� (Lx/Lm) ��� ��� ���������������$ pKm,H

��
 .�������� (Δ/ 50 bar� o/ 45 bar� x/ 42 bar+� (ϑAb,e ≈ 500 ◦C�

ṀAb ≈ 500 kg/h+� � � � � � � � � � � � � � � � � � � � � � � � � � � ��-

��1% "����!���	��	
$��,
������ ��� ��	�

���� αAb !��� ��� "���

��!���	��	
$��,
������ ��� �����������
���� αKm ����� ����

����������

��	�� �� !���$����
���� '���$������� (Δ/ 2!����

B1Ab,q1� o/ 2!���� B2Ab,l� x/ 2!���� B3Ab,q2+� � � � � � � � � � � � �1%

��1� �����$��� �$��� ��
 !���$����
���� '���$�������
 KT,über !���

��� $����������
����	�� "����!���	��	
$��,
������ αKm �����

�������������

��	�� (Δ/ 2!���� B1Ab,q1� o/ 2!���� B2Ab,l� x/

2!���� B3Ab,q2+� � � � � � � � � � � � � � � � � � � � � � � � � � � � �11

��11 "����
��3�� Q̇sim ()*���� Δ+ ��� Q̇sim,unkor ()*���� o+ ���

���
��������� �������� ���������	�� ΔQ̇ ()*���� x+ ��� ΔQ̇unkor

()*���� �+ !��� ��� �4������������� "����
���� Q̇ ��� ����

����������

��	 �� !���$����
���� '���$�������� � � � � � � � � �1�

��1� ��	�
� ��� $����������
����	� "����!���	��	
$��,
������ αAb

��� αKm �� �����$����
���� '���$������� !��� ��� ����������

������������������	� (Lx/Lm) ��� ��� ���������������$ pKm,H

��
 .�������� (Δ/ 37 bar� o/ 32 bar� x/ 28 bar+� (ϑAb,e ≈ 500 ◦C�

ṀAb ≈ 500 kg/h+� � � � � � � � � � � � � � � � � � � � � � � � � � � �15
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���� �������������	����
������ ��� ����		���� αAb ���� ��� ����

����������	����
������ ��� �����������	���� αKm,i  �� ���� ����

����������		����� �� ����������	���� !����������� "x# αKM,us$

o# αKM,zp$ �# αKM,zp,S$ Δ# αKM,g%� � � � � � � � � � � � � � � � � � &�'

���( )���������	�������		� ��	 �����	����	 Q̇sim ")*���� Δ% ���

������
� ��+��������� ΔQ̇ ")*���� o% ���� ��� ��,����������

��� �����	���� Q̇� � � � � � � � � � � � � � � � � � � � � � � � � &�-

���. /������������� (AKm,i/AKm,ges) ��� 
��	���������$ ������������

	������� �������������	����
������ ���� ��� �������������	�

����
������ ��� �����������	���� αKm "x# (AKm,us/AKm,ges)$ o#

(AKm,zp/AKm,ges)$ �# (AKm,zp,S/AKm,ges)$ Δ# (AKm,g/AKm,ges)%� � &��

��& )��������� ��� �������� ����	��� � ��� !��, 	����������������� � &�.

��� )��������� ��� �������� ����� ��� ����+�		������	��� � ��� !��, �

	����������������� � � � � � � � � � � � � � � � � � � � � � � � � � � &�-

��� 0�������		*������	���� !��, 	�����
���������,�����*,� � � � � &��

��� 1��������
�� 2����� 
�� !���� p ��� 3�	��+��������� w ��	

4�����	 ��� !��, 	�����
���������� ��� �����	���� 3���������

"��� 2����� � 	��� ����� ������%� � � � � � � � � � � � � � � � � � � &��

��( �������	���,������ ϑs2 ")*���� Δ% ��� �������		������� 4�	�

	��	���� Ṁ∗

s2 ")*���� o% ���� ��� �������	����� ps2� � � � � � &(5

��. ������	�������������� ps1 ")*���� Δ% ��� ������	�����	�

���,������ ϑK ")*���� o% ���� ��� �������	����� ps2� � � � � � &.&

��6 2�����, ���	���,������ ϑV ")*���� Δ% ��� 
�����, ��	�����

�� 7������
��� ΔT0 ")*���� o% ���� ��� 2�����, ����	�����	�

����� ps0� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � &.�

��' !����	���	��	� ���� ��� ��� ��,������������ 8������		� �� ��	�

������	������� ��	 !��, 	�����
���������	� � � � � � � � � � � � � &.(

��5 4�� ������� μ ���� ��� ��������������� !����
��������		�� πs0,s2

")*���� Δ% ��� πs1,s2 ")*���� o%� � � � � � � � � � � � � � � � � &.6

��&- ��������	���� Q̇0 ")*���� Δ% ��� ������	��� �����
��������	

COPth ")*���� o% ���� ��� 4�� ������� μ� � � � � � � � � � � � � &6-

��&& 9*������	���� COPh ")*���� Δ% ��� :��,��������� ΔTHub

")*���� o% ���� ��� ������	���� �����
��������	 COPth� � � &6�
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���	 Q̇0� ���
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��� ��
����
������
 COPth� ���
���

��
��� COPh ��� ��	�
������
�� �
�� ��
������

� πs0,s2 ���

πkrit
s1,s2 !��
 ��
 "��#!�

��� μ $�% 43 bar� �% 38 bar� �% 33 bar�

�% 28 bar&� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �'�

���( "��#!�

��� μ !��
 ��
 ���
���

����	�� )��
������	 ΔT2 #!


�
�� ���
���
�
!� � ps2 ��� 30 bar $*����� Δ&� 32 bar $*�����

o& ��� 34 bar $*����� x& ��� �
�� +�
������

� ��� +�
���,�

#�
��
�
���
� �� ���
���
�
�� πs0,s2 ��� 0, 067 $��
��	���	���

-����&� 0, 076 $	�
�
������� -����& ��� 0, 086 $	�,�� ���� -����&� � �''

���� ������
���

����	� )��
������	 ΔT1 !��
 ��
 ���
���

����	��

)��
������	 ΔT2 #!
 ��� +�
������ ��
 ���� ���( $.�
�����


ps2/ Δ% 30 bar� o% 32 bar� x% 34 bar&� � � � � � � � � � � � � � � � � �'0

���1 �
�� ��
���# p ��� 2�
��3����	 ���
��
���# w ��� ���
���
�
!�

� �� ps2 ��� 41 bar $ϑs2 ≈ 106 ◦C& ��� ����� +�
���,#�
��
�

�
���
�
�� ps0 ��� 4bar $*����� Δ� ϑs0 ≈ 27, 9 ◦C& ��� 2, 6bar

$*����� o� ϑs0 ≈ 31, 8 ◦C& ���  
���
���� ������
���
	�	���

�
!� �� pkrits1 ��� 9, 5 bar $ϑs1 ≈ 46, 7 ◦C4 ϑs1 ≈ 49, 5 ◦C& !��
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��� ���,#
�
�����
������
���	� (Lx/L)� � � � � � � � �5�

���6 �
���
���
 �
�� p∗2 $*����� Δ&� ��
�
���
�
�� pa2 $*����� o&

���  
���
���
 �
�� p∗0 $*����� x& ����
 *���������

������	��

!��
 ��� ��,�
�������� �
��������� ���
���
�
�� ps2� � � � � � �5�

���' �
���
��� �
�� p∗0 $*����� Δ& ��� �
�� ��7�
����� ΔpMn,M

$*����� o& ��� Δps1,Mn $*����� x& ����
 *���������

������	�

�� !��
 ��� +�
���,#�
��
�
���
�
�� ps0� � � � � � � � � � � � � �56

���5 2�
��3����	 ����� wM $*�����Δ&� wMn $*����� o&� wrev
x2 $*���

��� x& ��� wrev
x0 $*����� �& ����
 *���������

������	�� !��
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9�� Ṁ∗
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��	
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�
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���� ����������� ��� ���������� μsim ������� Δ� !���"����	 ��	 ��#

$����������� ��� $����������� ����������� (μsim,unkor/μsim) ����#

��� o� ��� ������
� ��%��������� Δμ ������� x� ���� ��� ��#

&������������ ����������� μ ���� $����	���� '��������$� � � � � �(�

)�� ������	����� ����	 $��
����������� *�������$���	�	���	 ����$	�

��� ��� ������	�� ������������� +��&�	�����$"��������� ������	���(,

)�� -��&�������� T ��	 *�������$���	�	���	 �**.� ��� ��� ����#

��	���� ."��������� �-.�� ���� ��� ������������ ����������

/"���	���� Q̇norm� � � � � � � � � � � � � � � � � � � � � � � � � �00

)�1 ������	����� ��� ������	�� ������������� +��&�	�����$"�����#

���� ��� 2������34��� � � � � � � � � � � � � � � � � � � � � � � � � �0)

)�� -��&������ ��� *������� 
�� ����������		 ϑLL,a ��� ."������	#

���� Q̇0 ���� ��� ������	���� /"���
���"����	 COPth ��� 
��

��� 5�������	���&������ ���"����� *���������������	���&���#

����� �6�������� 7ps2 ϑU,e89 1: 743 bar 25 ◦C8 2: 738 bar 20 ◦C8 

3: 733bar 14 ◦C8 4: 728bar 9 ◦C8; 6�������� ṀLL9 a: 300kg/h 

b: 400 kg/h c: 500 kg/h�� � � � � � � � � � � � � � � � � � � � � � � ���

)�) <�������	��� COPh ���� ��� ������	���� /"���
���"����	

COPth ��� 
�� ��� 5�������	���&������ ���"����� *�������#

��������	���&�������� �6�������� 7ps2 ϑU,e89 1: 743bar 25 ◦C8 2:

738 bar 20 ◦C8 3: 733 bar 14 ◦C8 4: 728 bar 9 ◦C8; 6��������

ṀLL9 a: 300 kg/h b: 400 kg/h c: 500 kg/h�� � � � � � � � � � � � ��1

)�= -��&������ ��� *������� 
�� ����������		 ϑLL,a ��� ."������	#

���� Q̇0 ���� ��� ������	���� /"���
���"����	 COPth ��� ��#

�� $��	����� *���������������	���&������ 
�� 30 ◦C �6��������

7ps2 ϑU,e89 1: 743 bar 25 ◦C8 2: 738 bar 20 ◦C8 3: 733 bar 14 ◦C8 

4: 728 bar 9 ◦C8; 6�������� ṀLL9 a: 300 kg/h b: 400 kg/h c:

500 kg/h�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ���

)�> <�������	��� COPh ���� ��� ������	���� /"���
���"����	

COPth ��� ���� $��	����� *���������������	���&������ 
�� 30◦C

�6�������� 7ps2 ϑU,e89 1: 743 bar 25 ◦C8 2: 738 bar 20 ◦C8 3:

733 bar 14 ◦C8 4: 728 bar 9 ◦C8; 6�������� ṀLL9 a: 300 kg/h 

b: 400 kg/h c: 500 kg/h�� � � � � � � � � � � � � � � � � � � � � � � ��=
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��$ %�����
� ���
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����
������
 COPth,m ��� ������
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�'�
����
���
 COPh,m !��
 ��
 ������ ��� (�
�������	

�� 

��� n� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ##)

��* +�����
�� ����
 ,��
 ��	�
�
-����. /��������� "��
�!����
 ��

��
 ���
����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � #)#

0�* %�����
� ��
-���	
	�
�������	���� ��
 ��	�
�
 wAb,m 1Δ2 wAb,m

3ṀAb,max. ṀWG,max4. o2 wAb,m 3ṀAb,min. ṀWG,min45 ��� ��
 6!�� 

������
���� wWG,m 1x2 wWG,m 3ṀAb,max. ṀWG,max4. �2 wWG,m

3ṀAb,min. ṀWG,min45 !��
 ��
 ��
���
��� 6����������
��
���	�

(Lx/Lm)� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � #�$

0�# "�'����
 7����� ��
 ��	�

���� ReAb 1Δ2 ReAb 3ṀAb,max. ṀWG,max4.

o2 ReAb 3ṀAb,min. ṀWG,min45 ��� ��
 6!��������
���� ReWG 1x2

ReWG 3ṀAb,max. ṀWG,max4. �2 ReWG 3ṀAb,min. ṀWG,min45 !��


��
 ��
���
��� 6����������
��
���	� (Lx/Lm)� � � � � � � � � � � #$*

0�8 9
����� 7����� ��
 ��	�

���� PrAb 1Δ2 PrAb 3ṀAb,max. ṀWG,max4.

o2 PrAb 3ṀAb,min. ṀWG,min45 ��� ��
 6!��������
���� PrWG 1x2

PrWG 3ṀAb,max. ṀWG,max4. �2 PrWG 3ṀAb,min. ṀWG,min45 !��


��
 ��
���
��� 6����������
��
���	� (Lx/Lm)� � � � � � � � � � � #$8

0�) 6�

����
�����
�� ��
 ��	�

���� KT,Ab 1Δ2 KT,Ab 3ṀAb,max.

ṀWG,max4. o2 KT,Ab 3ṀAb,min. ṀWG,min45 ��� ��
 6!�������� 


���� KT,WG 1x2 KT,WG 3ṀAb,max. ṀWG,max4. �2 KT,WG 3ṀAb,min.

ṀWG,min45 !��
 ��
 ��
���
��� 6����������
��
���	� (Lx/Lm)� � #$)

0�� ��	�

����	� &��������
���
 ϑAb,W,m 1Δ2 ϑAb,W,m 3ṀAb,max. ṀWG,max4.

o2 ϑAb,W,m 3ṀAb,min. ṀWG,min45 ��� ��	�
�����
���
 ϑAb 1x2

ϑAb 3ṀAb,max. ṀWG,max4. �2 ϑAb 3ṀAb,min. ṀWG,min45 !��
 ��
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��� 6����������
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���	� (Lx/Lm)� � � � � � � � � � � � � #$�

0�: %�����
� �!��������
����	� &��������
���
 ϑWG,W,m 1Δ2 ϑWG,W,m

3ṀAb,max. ṀWG,max4. o2 ϑAb,W,m 3ṀAb,min. ṀWG,min45 ��� 6!�� 

�����������
���
 ϑWG 1x2 ϑWG 3ṀAb,max. ṀWG,max4. �2 ϑWG

3ṀAb,min. ṀWG,min45 !��
 ��
 ��
���
��� 6����������
��
���	�

(Lx/Lm)� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � #$:
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��� �������� ����	��	������������ wAb,m ���� ��������� ��������

�����	������������ wWG,m ����� �������
��		����� �Δ !�����

B1Ab,q1" o !����� B2Ab,l" x !����� B3Ab,q2#� � � � � � � � � � � � $%�

��& �'�����������'��� ��	 ����	�	 KT,Ab ���� ��� �'�����������'�

��� ��	 ����������	 KT,WG ����� �������
��		����� �Δ !�����

B1Ab,q1" o !����� B2Ab,l" x !����� B3Ab,q2#� � � � � � � � � � � � $%&

��% ��(�'��	�)����� ��	 ����	�	 ReAb ���� ��� ��(�'��	�)�����

��	 ����������	 ReWG ����� �������
��		����� �Δ !����� B1Ab,q1"

o !����� B2Ab,l" x !����� B3Ab,q2#� � � � � � � � � � � � � � � � $%%

��*+ ,�������)��� ��	 ����	�	 PrAb ���� ��� ,�������)��� ��	 �-��

��������	 PrWG ��� �������
��		��� �Δ !����� B1Ab,q1" o 

!����� B2Ab,l" x !����� B3Ab,q2#� � � � � � � � � � � � � � � � � � .++

��** �-���������	������ /����
����	�� ΔpKm,H ���� ��� �-�������

�����		��	��'� ṀKm ����� �-�����������		������ � � � � � � � � .+*

��*$ 0������'��� ��� ����	��������	���1������ ϑAb,e ���� ��� ���

��	��		��	��'� ṀAb ����� �-�����������		������ � � � � � � � � .+$

��*. �-�����������		��	��'� ṀKm ���� ��� ����	��		��	��'� ṀAb

��� ��� ����	��������	���1������ ϑAb,e ��	 ,�������� �Δ 450◦C"

o 500 ◦C" x 550 ◦C#� � � � � � � � � � � � � � � � � � � � � � � � � .+.

��*2 �-����������������
��� ΔT2 ���� ��� ����	��		��	��'� ṀAb

��� ��� ����	��������	���1������ ϑAb,e ��	 ,�������� �Δ 450◦C"

o 500 ◦C" x 550 ◦C#� � � � � � � � � � � � � � � � � � � � � � � � � .+2

��*3 0���-����	 (ΔhKm,H/r) ���� ��� ����	��		��	��'� ṀAb ���

��� ����		������� ��������	���1������ ϑAb,e ��	 ,�������� �Δ 

450 ◦C" o 500 ◦C" x 550 ◦C#� � � � � � � � � � � � � � � � � � � � � .+3

��*4 ����		������ /����
����	� ΔpAb ���� ��� ����	��������	���1��

����� ϑAb,e ��� ��� ����	��		��	��'� ṀAb ��	 ,��������� � � � .+4

��*� ��(�'��	�)��� ��� ����		���� ReAb ��� ��� �-���������	����

ReKm ���� ��� �'�������� �-����������'���-��� (Lx/Lm) ���

��� �-�������������� pKm,H ��	 ,�������� �Δ 50bar" o 45bar"

x 42 bar#� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � .+�
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��(( +�,	��������� ��
 ��
������� ReAb ���
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������������� ReKm  Δ! -�	��� B1Ab,q1" o! -�	��� B2Ab,l" x!

-�	��� B3Ab,q2#� � � � � � � � � � � � � � � � � � � � � � � � � � � � $�(
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���������������� ReKm  Δ! -�	��� B1Ab,q1" o! -�	��� B2Ab,l" x!

-�	��� B3Ab,q2#� � � � � � � � � � � � � � � � � � � � � � � � � � � � $�$
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 �		���� !����������	 (αKm,us/αKm,fl) ���� ��� ���������"

����	����
���� ��	 ������������ ������	 αKm,us #Δ$ %�����

B2Ab,l& o$ %����� B3Ab,q2'� � � � � � � � � � � � � � � � � � � � � � ()�

���* �������������	����
������ ��� ����		���� αAb ���� ������"

����������	����
������ ��� !���������� �		������ αKm,fl #Δ$

%����� B2Ab,l& o$ %����� B3Ab,q2'� � � � � � � � � � � � � � � � � � ()*

��(+ ,��-������� μ ���� ��� ��������������� .����
��������		�� πs0,s2

#�/���� Δ' ��� πs1,s2 #�/���� o' -�� ���� 
��	�������� ��"

�����	������ ps2 
�� ����-��� 25, 5 bar& 27, 5 bar ��� 29, 5 bar� � (�+

��() !�������	���� Q̇0 ���� ��� �������	����� ps2 �� ��	������	��"

����� ��	 .��0-	�����
���������	� � � � � � � � � � � � � � � � � � (��

��(� !�������	���� Q̇0 ���� ��� !�����	�������������� ps1 �� ��	"

������	������� ��	 .��0-	�����
���������	� � � � � � � � � � � � � (�(

��(( !�������	���� Q̇0 ���� ��� ������0-����	�����	����� ps0 ��

��	������	������� ��	 .��0-	�����
���������	� � � � � � � � � � � (�1

��(1 2�����	��� �����
��������	 COPth ���� ��� �������	�����

ps2 �� ��	������	������� ��	 .��0-	�����
���������	� � � � � � � (�3

��(3 2�����	��� �����
��������	 COPth ���� ��� !�����	������"

�������� ps1 �� ��	������	������� ��	 .��0-	�����
���������	� (�4

��(4 2�����	��� �����
��������	 COPth ���� ��� ������0-����	"

�����	����� ps0 �� ��	������	������� ��	 .��0-	�����
���������	�(�5

��(5 6/������	���� COPh ���� ��� �������	����� ps2 �� ��	��"

����	������� ��	 .��0-	�����
���������	� � � � � � � � � � � � � � (��

��(� 6/������	���� COPh ���� ��� !�����	�������������� ps1 ��

��	������	������� ��	 .��0-	�����
���������	� � � � � � � � � � � (�*

��(* 6/������	���� COPh ���� ��� ������0-����	�����	����� ps0 ��

��	������	������� ��	 .��0-	�����
���������	� � � � � � � � � � � ((+

��1+ ,��-������� μ ���� ��� ��������������� .����
��������		�� πs0,s2

#�/���� Δ' ��� πs1,s2 #�/���� o' �� �����	���� %������� � � � � (()

��1) !�������	���� Q̇0 #�/���� Δ' ��� ��	 ������	��� �����
��"

������	 COPth #�/���� o' ���� ��� ,��-������� μ �� �����	����

%������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ((�
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Ċ ����������
	�	��	��� [W/K]

Ḣ ��	����
��	��� [W]

Ṁ �������	��� [kg/s]

ṁ �������	����
��	� [kg/sm2]

Q̇ ������	��� [W]

q̇ ������	����
��	� [W/m2]

V̇ ���
����	��� [m3/s]

ẋ �	���
�������������	 [−]

A ������ [m2]

a ����	��	� [−]

a ������������
��
���
	 [m/s]

a  ��	������ [−]

a  ������	
���
	���
���
	 [m2/s]

B !��
	� [m]

b ����	��	� [−]

cp 
��"��� ����
#���� ����������
	�	 [J/kgK]

cv 
������� ����
#���� ����������
	�	 [J/kgK]
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d ��
�������
 [m]

E ���
��� [J]

f �����
�����
������� [−]

H ����
	��� [J]

H ������
� [J/kg]

H ���� [m]

h ���������� ����
	��� [J/kg]

K ����
������	������
�	 [−]

K ��

����
�
���
 [−]

k ��
�� �
���
������!����� [W/m2K]

k "��
 ��������
���
 [−]

L #���� [m]

Lmin $�� ���	���%�
��	���� [kgLuft/kgKraftstoff ]

n $���
 
���
�	 [1/min]

n &��

��
�	  �� ��
��'��
�

��
� [−]

P ����
������ � �
 �	���
����� #������� [W]

p �
��� [bar]

R �	���
����� �� �
��
� [Ω]

R ���������� (
������
��� [J/kgK]

r ���������� )�
 
�����������
	��� [J/kg]

R0 ���%�
��		� (
������
��� [J/molK]

S ���
���� [J/K]

s ��
� 

 
��������� [−]
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s ����
����� ��	���
� [J/kgK]

T �������	
� [K]

U ������ [m]

V ���
��� [m3]

v ����
������ ���
��� [m3/kg]

W ����
	 [J]

w �	���
���������
��
���
	 [m/s]

w ����
����� ����
	 [J/kg]

x ���
���� [−]

y ���
���� [−]

Z  ���������	�� [−]

����������� �	���
���


α !"���#�����������$�
��	 [W/m2K]

Δ %
&����� [−]

δ '�������
��
��

η !
��
������� [−]

η �(���
���� �
����
	"	 [Ns/m2]

γ )�	���
		������	�� [−]

λ !"�����
	�"�
���
	 [W/mK]

λl *
�������� [−]

λv ��������
����
�	+���"�	�
� [−]

μ '
	�#����	� [−]

ν �
����	
���� �
����
	"	 [m2/s]
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φ ���

��	�������� [−]

π ��
�	�����
���� [−]

Ψ ���
��
������
 [−]

ρ ������ [kg/m3]

σ ���������������
��

τ ���
������
�� [Pa]

ϑ ��������
� [◦C]

ξ ��
�	���

��������� [−]

���������	� �
����
� ���
�	����

u ��
����� �����������
�� [%]

A  ����	�
�!
�	���� ��� �����
��������� ��� "

�����������!��� [−]

B ����������
���� #�������� ��� ���

��������
������ [−]

E $�����
�������

K  �%��
���!�	��� ��� �����
��������� ��� "

�����������!��� [−]

L �����	����������� &���� [m]

U ����

�� �����������
��

V ���

��

�������������� ������
���

Bi = α ·L0

λK
'���()��
 ��� L0 =

L ·UAb/Km

AW,q

Fr′ = ṁ2

ρ′2 · g · d "��
��()��
 ��� "
%����	���

NB = q̇
ṁ · r �����	������


Nu = α ·L
λ

�
���
�()��


Pe = ρ · cp ·w ·L
λ

#*�
��()��
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Pr = ν
a
= η · cp

λ
�����	������

Re = wm ·L
ν

= ρ ·wm ·L
η

�������������

��������	
�� ��

�� ��� �������
�


′ ������

′′ ���������

0 ��������	� ���������
��


1 ��		���� ���������
��


2 �����	� ���������
��


über ����������������

∗ ���	�����  	���
����
�	���

a !
�	��		" �
#��

Ab !����

B $��
�" $�����������

COP %��&����	 �� �����������

COV '�
������

E (��������
��

e (��	��		

eff �)��	�


exp ��*������	���

ges �����	

H +
�

h �����
�����" ���#

HD +�����
��
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�

i ��
�����

i �����

id ����


j ��
�����

K ������������ ������������� �����	����� ������

k 	�
�

KG ��
����������������

Km ��
�������


kor 	���������

krit 	�������

KW ���
������

l ��
�����

l 
����

lam 
������

LDW ���
���������


LL ����

��

LLK ����

��	��
��� ����

��	��
������

M  ����
��

m �����


Ma  ���!"��


max ������


min ������


Mn ����  ����
��
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N �����
�	���

nef ����	 ���������

norm �������	

p ��
�����

pk ���
�����	����

proj ���������	

Q �
��	���	��

q �
��

R ����	���
��	���
��

R ����

ref ��������

RK ����������

S ������	� �
��

s �
���
�	���

s �!�	���	����

sim ���
��	���

SZ ���� ���� 
�� "
���

t 	�	��

th 	��������

TKA 	�������� ����	������� #$�	�������

turb 	
��
���	

u 
�	���

us 
�	������	�� ������
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WG ��������
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z �
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· 1
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(hs2 − h2) · Ṁ2
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� NB = q̇W /(ṁKm · r) = (ρ′Km ·w′

Km)/(ρKm ·wKm) �	�� �	�
 �
��

�
	� ������ 	�� ���
��
��� ��� �	�����
������

� ��� ���
���

���	���� �������

 ���

�	�� (q̇W /r) ���  ��	�
�� �	�����
������
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0,08 · f(Fr′)

+ 667, 2 ·N0,7
B · (1− ẋth,m)
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���� 
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5�� ��	 
��&�	���	 ��� ��� %	��� '( � ��	 %
����� %
� )����	�&���*&����6

��� κ� κTp ��� κTρ �!����  
� ���� '�
� 
������ 4�� 5�� ��� "���!���� x ���

y �' ��� �.���� �� ���� +�-����6 ��� 1��(������ '�	������  �	���� ��
�

)������� 
�� ��	 )����	�&���*&����� κid  ���� Kp = 0 ���
�� ��� 3�	�!��6

�
� ��	 
��'�	�� (�	 
�����	�� �&�(
2����� 7!	����&�(
�!� (cp/cv) ��� ���
�

��	 5�� ��� 
��&�	���	��� �
��� �'�	  
� '�
� ������� ���� 5�� %	.����
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����� ��� "���!���� x ��� y �'�!��
��

%
� ������ ����������� 
��
���
� 	����	 4��� ax '�	������ �
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� -����

��
��� �����,

ax =
√

κx ·Kx ·ZN ·R ·Tx ���/��
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� ��$�	 5�� ��	 ����
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�!��(���

Kx ���� 5�� ����
����� %	��� px �'�!��
�� %
� ������ 4���� 
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���
� �
��	
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Max =
wx
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� Max ��
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�������
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 �������'
	�# ��	��
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�����
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�	��	��
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"�	 �����	 �	�(	
���
 	��	� *	�����	� Tx 	��	
 ��	��
�(	� ��
����� �� +��'�

�	� )	
'��	
���
	� ,�	
��
����� ��� -	.�� ��� ��	 �	�(	
���
 �	� *�
	.��

������ Ts %	
	�
�	� ���
 ����	�� �	
 �����	� ���
���
� Max ��� &�� ��  ��	

�� /�
��� -� �%�	�	��	� .��

Tx

Ts

=

(
1 +

κx ·Kx

κm ·Km

· κm · (1−Kp)m − 1

2 · (1 +KT )m
·Ma2x

)−1

��� 0!

��� κm = (κx + κs)/2

Km = (Kx +Ks)/2

(1 +KT )m = [(1 +KT )x + (1 +KT )s]/2

(1−Kp)m = [(1−Kp)x + (1−Kp)s]/2

"	
 1�	��
�(	�	2(��	�� κm# ��	 +��(
	���%����'��.�
� Km ��� ��	 /���

�
$��	 ��� �	��	� /%�	�����	� (1+KT )m ��� (1−Kp)m �	
 ��������'��	
���

�	
�	� �'
	
�����	��	 ��� �
��
�	����
	 ����	��	
�	 .����
	� �	� *�
	.��

����� s ��� �	� �����	� ������� x %	
	�
�	��

��
 -	
	�
���� �	
 &
�3	 �� �����	� ������� x ��
� �	
 �����	 "
��� px

%	������� "	
 �����	 "
��� px %	
	�
�	� ���
 ��� -	.�� ��� �	� "
��� �	�

*�
	.������� ps ����	�� �	
 �����	� ���
���
� .� ��� /�
��� -� !�

px
ps

=

(
1 +

κx ·Kx

κm ·Km

· κm · (1−Kp)m − 1

2 · (1 +KT )m
·Ma2x

)−
κm · (1+KT )m

κm · (1−Kp)m−1

��� 4!

"�	 -	
	�
���� �	
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���
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���) 	
����	�# �	�� .�
 -	��������
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��	 �����	�������������� κi� ��	 ����	���
�
�
���������� ��� ��	��  ���
���!

��� Ki 
� ��
��� "��
������� ��#��� ��	 $	��� px ��� ���� �
� 
����	���	

Tx ���%�
�� #�	���� &�	 '�	��
���� ��	 ���	��
���� ��#
� ��	 '�	�
�(������

)�� "�� ��*+ ��� ��*, ������ �
� 
�  ����� -�� �
���(.�	��� /���	����
���!

�	�������������� ��� 0�������� κ̃x� κ̃Tp,x ��� κ̃Tv,x )�	#����� #�	���� $
�

/���	����� �
���� ��	 -�
��������� ��	 ��	%��������
������� ��� 
������

"���� 1)��� ���	������ ��� ������
��� 234,5� �
� #�	��� (.	 ��� 6�#�
�
���

0���������� x = s ��	 ��	%���� ��	�������

$
� "��
������� ��*+ ��� ��*, ������ ����	 '�	#������ ��	 /���	����� ����7

Tx

Ts

=

(
1 +

κ̃Tp,s − 1

2
·Ma2x

)−1

1��*�5

px
ps

=

(
1 +

κ̃s − 1

2
·Ma2x

)−
κ̃s

κ̃s−1

1��*�5

$
� /���	����� ��� '�	�����
���� ��� �	
�
����� &������ ∗ ��� 0�����!

����� s �	����� �
�� ��� "�� ��*� ��� ��*� �
� Max = 17

T ∗

Ts

=
2

κ̃Tp,s + 1
1��*45

p∗

ps
=

(
2

κ̃s + 1

) κ̃s
κ̃s−1

1��*35

8
� ��� "��
������� ��*4 ��� ��*3 �%���� ���� �
� �	
�
����� &��������	%!

9�� �
� κ̃Tp,s ��� κ̃s ����	����#�
�� �
	��� ��� ��� 0���������� s ����
���
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�
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������� 1����� r̃5 ��#
� ��	.��	 �
���� �
� ��� �����������
������� �
�

��� /�	�
����	�������������� )�� κN = 1, 1 1����� id5 :����
;�
�	� #�	����

��  ��� ��2� #�	��� �
�	�� �
� '�	�����
��� )�� ������� "	%9�� �� 0����	%9��

(.	 $	��� (px/ps) ��� 
����	���	 (Tx/Ts)� �
� ������� ��	%����������#
�!

�
���
��� wx ��#
� �
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�
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����� �������	
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�	
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��� �134�� 
��� ��� TN = 298, 15K �	
 pN = 1kPa�
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(px/ps) ��	 �
��
����� (Tx/Ts)- �����
 ���)������
�
�.��	���
��
� wx ���

.�
 $�.
�
����
� ΔT - Δp ��	 Δwx +�
� 	
� �����
� ��
������ Max�

,�
 $�.
�
����
� 	
� �
��
������
�

����� 	
�  
�����
� !�� /#�
����

	
�  
�����
� ΔTr,r̃ = (Tr − Tr̃)/Tr �
����
� ��
� �+� ��
������
� Max ���

2, 5 �+� 	�
 ��
�����
 �0������� ��� −3 % ��� 2 %- 	�
 ���
� '
�.
�	��� 	
�

1	
�������
�
����
� ��� /�����
�����
�
0���
��
� ΔTr,id = (Tr − Tid)/Tr

����
�
� ��� ��� !� −15 %�

2
�� ,��
� ��
�
� 	�
 $�.
�
����
� Δpr,r̃ = (pr−pr̃)/pr �
� −9% ��� 16% ��	

	�
 $�.
�
����
� Δpr,id = (pr − pid)/pr �
� −24% ��� 7%� ,�
 $�.
�
����
�

	
� �����
� ���)������
�
�.��	���
��
� Δwr,r̃ = (wr − wr̃)/wr �
��
� ���

��
��
�	
� ��
������
� Max !� ��	 ��
��
� ��� ��� !� 23 % �
� 
��
� ��
��

���� Max ��� 2, 5�

,�
 $�.
�
����
� 	
� �����
� ���)������
�
�.��	���
��
� Δwr,id = (wr −
wid)/wr ����
�
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� ��� ��
��
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� ��
������
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����
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���� ����������� �
� �� −38 % ��� ��
 ����� ����������� ���� −12 %�
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������� � 	 ��� �	��� ��� �
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�!"�	���	 ��
��� ����

#
� �	#�	��� �
�� �����	� $��	�
���
!!��� !
� ��� %���������
������� ���

�
� &����������
������� !
� ��! ��	!
����	�"���'"������ (
� ��! �	
�
�����

��	)!����������� ��
 Max = 1 �
�� �
� *�#�
������� +�� 
�!"�	���	 ���

�	��� ��	 ����	�������
������� ����	 #�
���������� +�	��������
���	� �
�

������� ��	)!���������#
��
���
��� wx #�
���� 
� ��
��� ������ ���	� +��

��	 ������� ��	)!���������#
��
���
� ��� %�������� wx,r ��, #������ �
�	 �
���

!
� ��	 ����	��� ��	������ #�	��� �������

�
� ��	���������� ����!!������� ������ ���� � 	 ����	� %����������� 
!

����	������� �	���� ��� 
�!"�	���	��	�
�� ��	 ��!"���	���+�	�
�������

��������	
����
�����
�������

��	 ����!!������ �#
����� ��! -��	����
���+�	���� ������	 ��� ��� .�	�

�����
� ��� ������� ��	)!����/��	����
��� ��! ������� -��	����
�� (Amin/Ax)

��� ��	 ������� 0����#
��
���
� ������	 ��� ��	�� �
� ������ ��������� Max

�	�
�� �
�� #
� 
! *����� (�1 ������
��� ��2

Amin

Ax

=

√
Kx ·κx√
K∗ ·κ∗

·Max

·
(

1 + κ∗ ·K∗

2 ·Km
· κm · (1−Kp)m−1

κm · (1+KT )m

1 + κx ·Kx

2 ·Km
· κm · (1−Kp)m−1

κm · (1+KT )m
·Ma2x

) 2 · (1+KT )+(κm · (1−Kp)m−1)

2 · (κm · (1−Kp)m−1)

3��145

�
� ����	�������
����� !
� ��! &����	�"���'"������� κ̃ ������2

Amin

Ax

= Max ·
[

2

κ̃s + 1

(
1 +

κ̃s − 1

2
·Ma2x

)]− κ̃s+1
2 · (κ̃s−1)
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�������������	���� Ts ��� ps ��� ��������	������� �
� ��	�	���	��� ���

��������	�������� ��	���	 �
���� ��	�� ��
��	�  �������� ��� !�����	����

�
���	 ��" ������� #��	����
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�� �
��� "��$
��� ��	 ������	
�� "�%
"�$�

��������	�" Ṁ∗

s ��� ���$����� �	�
�� �
�� ��� ��	 &���
��
�'���$�
����� (�	

��� ������� ��	�"����)��	����
�� Amin ��*

Ṁ∗

s = Amin · a∗ · ρ∗ +��,�-

�
� �	
�
���� �
���� ρ∗ ��	������ �
�� ��"'�  ����� .�� "
���$�*

ρ∗ = ρs ·
(
1 +

κ∗ ·K∗

κm ·Km

· κm · (1−Kp)m − 1

2 · (1 +KT )m

)−
(1+KT )m

κm · (1−Kp)m−1

+��,�-

/���	 ��	������� ��	 !$� ����0 ��1�0 ��1, "
� Max = 1 ��� ��,� �	�
��

�
�� ��	�� /"(�	"�� ��� !$� ��,�*

Ṁ∗

s = Amin ·
√
κ∗ ·K∗

Ks

· ps√
ZN ·R ·Ts

·
(
1 +

κ∗ ·K∗

κm ·Km

· κm · (1−Kp)m − 1

2 · (1 +KT )m

)−
2 · (1+KT )m+κm · (1−Kp)m−1

2 · (κm · (1−Kp)m−1)

+��,1-
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����� !	���� ��	�� �
� 2'��	�����$�
������� ��
3
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$���� ���� ����
�� �
� ��" �	
�
����� ��	�"����������� �
���

"�	�$
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����� 5��������$�
����� 	��$�	 !���

��� ���� �
� (�$�� ���'��	� ��	���*

Ṁ∗

s = Amin ·
√

κ̃s

Ks ·ZN ·R ·Ts

· ps ·
(

2

κ̃s + 1

) κ̃s+1
2 · (κ̃s−1)
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�� ������	
��
��
�
����� ��

���� ���� ����
����
��������
�� dp100,AB ��� dp20,AB ����
������������ �����

��
����� ��� 100 mbar ���� 20 mbar ��
��������

��
 ��� ���  ��!��� ����"
�
�� ���
�����	
����
�� Q̇2 �
����� ���� ��
�

���#"� �� ��� $��
�
����������	
��
��
�
���
 ��� �
%!�������� �� &�����

��
�� ��"
�
�� '
����� (	���������) ��� ��
�� ���� (���������
��#��#� ���

����� (���������
 ��" ��� �
�%��� �
��������� pH1 ��"%
��
� ��
�) �� ����

���� ��
 ��� *���������� ��
 �
��� pH2 �
����� ���  ����
��������� ������

���� ��� "����
 +������������� ��� �����
������ *����������� ,$����������- ����

�#
������ ��� ������� ��
 (���������
��#��#� �������
��� +��������
��

V̇H ���� ��� (	������������#�
���
 TH2 ���� ��� (	���������
��
������� ΔT2

��� &�� .�� ��
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�� ����#
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 ������������ ����������� 6���� ���� �� ������ ��

7�
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���� ��� ��� 8����� ��
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�
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	��� ��� ������� �����	 
������� ��
 ����������	���� ��� ��� ��
�������

��	 �����
�����	 ��������  �	 !"	���	���
"��� �� ��� �����
�����#�		������

�	� ����$� 
�	������� ��"%�� ��	 �� ��� &�	���	��� '�		�� ������� ����� $�	�(

)����������� ��� ����������� ������ ���� ���
 *+��� ��� ������������� ��

'������	�������� �� ��� �����
���������	���)� ,� ��� ������ �������������	

'�		�� ���� ��)����� ��� ����� !"	��������	�����	������ �� -������		��
��(

��������� )������ .	 ���� �� ����� ��	�

���� ��� '�		�� �
 /����
�)��

��� �� ����� /��	���)��� ��� $������������ ��� -�������� ����� ��	 &�)���(

��� ��	 ��	�

����� '�		��	 ���� 0� ���� �����
����� 	���� �� ���
�	����

$��������� ��

��� ��� 1����������� ��� ��
�� �����	��� ��� 2���� ������


�	 ����� ��� 2������������� ���
����� 
����

3�� .���������� ��� ������ 	�
�� ����� -�)������ ��� .��������� 
�� ���(

��
����� 	��� -�)���( ��� .������	������ �����	�����  �� 4�
������
�� �	�

���� 2���	��� ��� ���������� ������ �� ��� ������ ������������ ��		 	�� ��	(


���	����� 	�
�� 	������ ��������(� ��)���( ��� ���������� �	��  ��	 �	� ���
��(

���� 
��� ��� ��� .���������� ��� ��
 -�)����� 
�� �����
����� ��� ���������

��� ������ ���  �
�)����� ��	 '�		��	 ��� �������	������� 5
������	( ��
�

���������
������� �����	�������� 
����� 
�		� 2�� 5
������	( ��
� ��(

�������
��������� �
 20 ◦C �	� ���� .���������� ��� ������ ��	 ��  ������

����� 20mbar ���
������ ��� 0����� �� ����� -�	��������� ��� 6�
���
�
(

���� )����� �"�����  �� ����������� ��� 4�
������
�� 
��� ����� 	������

��������� ��	 ��) 200 mbar ��������� ��� ���� ���� ������������ $�	�)�������(

���� �� ���) ����

���

 �� ������� �����
���������	���) �	� ��)����� ��� ����� 6����		������ ���

6����		��
��������� 	�
�� ��	  ����������	������� ��	 .���	���� 
�� 1��
��%(

��� 2���	�������������� ��)������� !�������� 1���������
�������� ��� ���(

��������� 
�� ��� 2������������� ��� ��	 1�������	 	��� 
���� ����� ��	����	(

	� ��	 ���)�� ���� 1������������������ ����� ��� .���	��������� ����������

1�
������ /���������		������ 	��� ���� ���)�� ��
� 6��7�����#������7��� � ��(

��������

��	 ��� .8����
����� ������� 	��� �
�� ������������ �
 6��)	����	��)(

���� �����	
���� ��
�� ���
��� 
� ��� �����
���
� �
�� ����
����
� ��� ������ ���  �������

1300mg/kg ��
 25 ◦C  �� 420mg/kg ��
 −10 ◦C ��!
� 
� ��� "��#���� �
�� ����
����
� ���

700 mg/kg ��
 25 ◦C  �� 170 mg/kg ��
 −10 ◦C$
�%����� ��& '(�) ��!$ (�*��$
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#��
��$��� n [−] 45

#��
�������
�������
 dKm [mm] 4

#��
�������
�������
 dAb [mm] 6

������
� #��
�	��� %��
����
������ LR,q [mm] 32, 5

������
� #��
�	��� &	�������
������ LR,l [mm] 306

#��
������� �� '�
������
������� L1 [mm] 9

#��
������� (��
 $�
 '�
������
������� L2 [mm] 11, 5

)��� �����*���� HAb [mm] 67

+
���� �����*���� BAb [mm] 114

*	���������������� ,��
�
���
-	��� AKm [m2] 0, 21

.�
 ,��
�
���
�
���� � ��� ��� /�������� 01.4301 ���� .12 /2 10088�23

��� ����
 .����� ρ 4�� 7900kg/m35 ����
 ���$�6����� �����
�� 7	
��*���$��	�

cp 4�� 0, 5kJ/kg ��� ����
 7	
������!	���*��� λ 4�� 15W/mK ��!�
����5 �����

����!	�
 7 kg ��� �����$� ���� /��� ��� ����	�!� 4�� ����� ��� 8	���������

��� 9������ 4�� ����!	�
 3, 2 dm3 0HAWÜ,a = 0, 073 m5 BAWÜ,a = 0, 12 m5

LAWÜ,a = 0, 364 m3�

��� ������� ��� 	
��
������
���������

��!�
��� ��
 4�� 8	����������
��* pKm ���	������5 4�
���������� *	�������

����������� '�
������!�
��� 04��� ��������� :��3 ��
� ��� ;����� !

 ��� 
��
�

*
������� ����� ��� ;����� !

 ��� ����
*
������� 7	
��
��
�
����� ���������

���� �������� �	
����
� ��� �������������
 LR,q ��� ��� ���
� ��� ��������� �	
�� ���

��� ������� B1Ab,q1 ��� B1Ab,q2 ��� ���� ����
���� �������� �	
����
� ��� ���
����������
 LR,l ��� ��� ���
� ��� ��������� �	
�� ���

��� ������ B1Ab,l ��� ���� ����
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 ��� ��������

���  �
!�������� T ��� ����� ��� �����"����	���� #��
������������ 	��� ��

���� ��� 	���
���	�� ���� ��
 ������������ #��
�	���
 Q̇ �����	����� $	����


���	�� ������ ���% �����	������ �������� �������� ����� ������ ���%� ��������

���� #��
�	��&
� �� ��� '�
������� ���������(�

��������� ���)  �
!�������� T ��� ����"����	���� $���"	( ��� �����"����	����

#��
������������ $�����	( ���� ��
 ������������ #��
�	���
 Q̇�

*��	!������� ��� +���
������� 
����� ����		����� ��� ���� �� ���� ��,

�����	������� ��������- ���� ��� ������� � �.
� ��	 ��	�� /��� 0�
 ����	 �����

	��&
�� 1��������� B1Ab,q1- ��� ������� �� �.
� ��	 ����	 ����	��&
�� 1����

������ B2Ab,l ��� ������� ��� �.
� ��	 ������ /��� ����	��&
�� 1���������

B3Ab,q2 $���(- �����	��������

��� ��� ����"����	���� #��
������������ $���"	( "���� 	��� ��� ����	
�	�

	��	���
 ṀAb ��- 
������ 	��� ��� ��.� �� ��� 	���
���	���� ���	������� ��

���� ��� �
 2����	���
 �������� 3����
�����
�		��	���
 ṀKm �����.��

��� ��� 3����
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70 mbar 0���� ���� ��1:2� ������� ��& ��� ��	��������) pAb ��� ����&���
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� wi,m = Ṁi/(ρi,m ·Ai,q) -��./

��
 �����
�
 (�����
���	������
�� wi,m �
� *
	
����
� ��������� ���� ��&

���& !�
� '
��
����
���������� �
��� ���� ���! ��� �
� +���
����!� Ṁi� �
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Q̇ = ṀKm · r · (ẋth(x+Δx)− ẋth(x)) "����#
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ϑAb,e ≈ 450◦C,
ϑWG,e ≈ 23◦C
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 ṀAb ,#�

40kg/h ��	 600kg/h 	����� ��	�������� ��� %������ ,#
 ����	 ��) ��	 .�%�
���

��� ������������ ���
�	���
� Q̇ ,#� 3kW ��	 23kW 	������ ��
������	��
��


�� +���%
����
 ����	� ��� .�%�
�����
�		��	��#
- 
#��� 	�$% ��� /����

������ ��	 ����	
�		��	��#
	 	���"�� ��	
��"��� ��� �������)��
��� .���

,��,�����) ��	 ������������ ���
�	��#
	 ������ 	�$% ��	 ��� 0������#� ��	

��		��� �!"#��(�		��	��#
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�� ṀKW 7(�����
��� V̇KW 8 )�� ����,	�
 1, 2 kg/s ���

���� &	�������������
�������/�
���
 ϑKm,e )�� ����,	�
 13 ◦C ��,���
�����



��� �� ���	
��
�����
�
	����

25 30 35 40 45 50 55

70

80

90

100

110

120

130

pKm,H /bar

ϑ
K

m
,a
/◦
C

25 30 35 40 45 50 55

65

70

75

80

85

90

95

Ṁ
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Q̇über ������ ��� ����� ����������(� �� ���� ���� ��"������ )�
�������� ��� �	����

�������
���� ��� ��������� �������������
�� ��� ��������
 ���������
�����

�����
���
 ��*�
	���
�+ ��� �� ���� ���, ��� ��
 -
���� ��
 )�
������ �����

���� ��
�� &�� �� ���� .�/ ��"������ $���
����� ��
 0�������������(��� ���

�	���������� ����� ��� ����
����������� 1��
���"��� ��� �	���������� ������


��
 ��
 �������
�������� �����
���
 TKm,pk �����2����� ��� �3��
��������

�
��������� 
��
�
������  	
����
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���� �������� 25 bar ���

38 bar ����
����� ��0���� ��� �� 20 % ��� 
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������� ����� ��� 1���������
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������ ��� ������
������ ������������ ���������� ��	 ����������	 � �������!

����� "��
�	���
	 �#����� $��� � ��� ����� %����		����� ��	 ����		�������

"��
���������	 ���� �� ���� �	� �������� &�#'��������� ����� ����

��� "��
�����������
������	���� ε ��	 %��������	 ��	 ���	� ��� � �������!

����
 "��
�	���
 Q̇ ��
 ��� �������� (�
���������������� 
���
�� ����!

��������� "��
�	���
 Q̇max = Ċmin · (TAb,e−TKm,e) 	���� �� ��� )�����
��!

��� ��� �������� 25 % ��� �������� ����	
�		��	��#
�� ��� �������� 15 %

��� ����� ����	
�		��	��#
��� ��� � ���� %����#'����� ��� *���������+�!

 �� ��	 ����	
��
�����������������,�	 ���� ��� "��
�	���
 ��	� ��������

��� ����� ���������� (�
���������-������� �� $���
 .��� �� � ��	������� 
��!

���/ ��
��� ��� ��������	 �� &��������/ ���� ε = 1/ �������� ��	 �� ����������

(�
��������������	 ��	 0����
�����	 �� �� ����� �� 
����� �����
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%�
 ��������� ������������ %
�����
���� ΔpAb ��� �� ���� ���& �������� ���

��� �'��
�������� �
��������� ��( ��� �	���������������� )����*	��� ��� +��
�

�������� "	
����
����������#����� kKm ��� ,�� ��- 
��
 ��� ���������

�����
�� ṀAb ��(���
�����
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��������� ���&. ������������
 %
�����
���� ΔpAb /01���� Δ2 ��� "	
���

��
����������#����� kKm /01���� o2 
��
 ��� �������������
�� ṀAb�

%�� �������������
3�� ṀAb ��� 200 kg/h ��� 600 kg/h 
�������
�� �� ���

����������� %
�����
������ ��� "	
��
��
�
���
�
����1�� ΔpAb ��� ����(	�


8mbar ��� 70mbar� %�� %
�����
����� �
�3��� ���� �
��
��������	4 ��� �����

�����
 0�
3�������������������� ��� ������� wAb ���� ���������� ������

��������
�� ṀAb5 ���� ����
 ��
 ������� ����� ���������� %
�����
��������

��
�� ξ ���� ΔpAb = ξ · (ρAb/2) ·w2
Ab ∝ Ṁ2

Ab/ρAb� %�� ���	�������� ��� %
����

��
����� ��� ��
 �����������5 ��� ���� ��
�� ��� 6�
������ ��
 7����
���
 ���

100K �� ����(	�
 10% 	���
�5 ��
� �� ��
 8���
��� ��� �'��
�������� �
����

������ %
�����
����� �� ��� �� 10% 9������ ��� ���������� �������������
��



��� �� ����	
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������������

ṀAb �� ���� ���� ���������

��� 	��� ����� ��� ���
����	���� ����������� ����� ��� ����	
��
������

������ ����������� ����		������� ���� !����	�� !�� ��	 �� 70 mbar 	��� ����

	"������� ��� ��	���������� ��	 ��	������ #���# ����� !��������		������ $��

 %���� &����� ��� ������������ '������ ����� ���� $��������� ��	 (�������

���
�� ���	����	  �
"��	���� 
������ ������� �����	 ������� ��� ��	 ���

���� ��	 ����	�	 ���� ��� )��
����������� �� ��� �*"���
����� ��������

�
�	���� 100 K ��� 200 K� 
�	 &� ���� ����	��
"������ ����� ���%���� ���

����	������ �
 10 % +1000 ◦C, ��	 40 % +450 ◦C, ���	"������ -� ��
 )��
��

���������� �������������� .����� ��� ��������� ��	 ����		�����	 !���������

	��� ��� ���� !����	�� �������� ��� !����������� $��%
���	��	��
����� �����

��� 	��������� ������ ���	"�������� /�� ����� -���������� ��	 ����	
��
��

����������	 !�� 0�
"������� ��� ����	������ 
�� ����� ���� !����	��� 
��

���	"���	
��	� ��
 $�������
"����  %����� ��� ��	�
��� ���� !����	�� ���

����		���� � ����� ��� ��	 ������ �
 ����	
��
����������� 	���� !������

���� 
������ ������� �����	  %���� ���� ���� -���������� �� ��� "�		�!��

��	��"����		�������
"��� ��� ����	������ ��������� �� ��
 ��� ���� � ���

������	��
�� ����� ��	 ����	�	 ����� ���	��� "��%	�� '���������� �� )��
�

��
������ 
������ ������� ���1�� 	��� ��� ����		������� ���� !����	�� 
�����

!����������

���  ����
�����	������ )��
��������� 	����� �� ���������� ��� ���� !����	�

�� ��
 ��������� 
%�����	� ����� )��
�	���
������� ��������� !����%1���


������ ���� 
��� ��� ����		������ )��
��������� ��� ��		�������������

)����	���� ��	 )��
����������	 ���	������ 
��� 	��� ��	�������� ���� !���

��	�� ����� ��� ����		������� )��
��������� ���%����� '�1���
�� �����

!��
����� ��		���

���  ����
�����	������� ���� !����	�� ΔpKm ������ �� ����� �*"���
����� ���

�%��	���	 500 mbar ��� ��� ��
�		���� 0����
�����
�		��	��%
� ṀKm !��

35 g/s ��	 90 g/s +	� ���� ����,� -
 2�������� �� ��� !�� ��� 3�
"� �� �����


�������� ���� ��4������� ΔpKm �
�	���� 5������� � ��� 0�����	�����	�

���� ��!��� !�� �������� 15 bar ��	 40 bar ���%���  ����
�����	������ ���� �

!����	�� �� ��� 6�%1��������� !�� 0, 5 bar ��� �7������	�� ���%����� 3�
"�

��� ���������	
��
� 
��
��

��
 �����������
� �
�
�	
� �
��	����
 �

 ���������
������

�
� ��� 600 kg/h ������
�����
 ��� �
� 	� 180 mbar ����� � �� ��� �
��
! "#$%&�



�� ������	
��
��
�
����� ���

�������� Ph ����� �����������

��
�� ���� ������
��� ��� �	���������
��
���
�������� AKm,q� ���� ���� ��
�

��  ����� ��
 !�
"����������������#��� ��� �	���������� wKm� $�
��  ���

���� ��� %�&������'��� ��� �	���������� ReKm� ��
 #	���������������� (	
���


��
�����#��)*���� αKm �
�"�� ���� ����� �� 75%� ���� �� �
���
 +	��
���

���� αKm ∝ Re0,8Km�

,

 ��� ��
�	����� ��
 
�����$�� -���
��� ��� .
���#�� $�� (	
����
���

�����#��)*���� ��� �/�#��$�
 %��
0	��� (kKm ·Aeff ) *�
 
�����$�� -���
���

��� .
���#�� $�� #	����������������� (	
����
�������#��)*���� ��� #	����

�������������
 (	
��
��
�
���
0	��� (αKm ·AKm) ���� ����
 ��
�����	�������

��
 (	
��������� ��
�� ��� �	���������
��
1

∂(kKm ·Aeff )/(kKm ·Aeff )

∂(αKm ·AKm)/(αKm ·AKm)
=

kKm

αKm

· Aeff

AKm

��� ��
�	����� ��
 (	
��
��
�
���
0	���� (Aeff/Akm) ���
	�� ����2	�


1, 56� (��� $�� ����� ������
�� (	
��
��
�����#��)*������ αKm ������

������ ��
�� ��
 �� ����� ,�#��
 7, 5 �
"3�
 ��� ��
 (	
����
�������#��2�

4*������ kKm ���� �	��� ���� ��
�� ��� 5
�"���� ��� #	����������������� (	
�

��
��
�����#��)*������ αKm �� 75 % ��� �������
 �	���������
��
���#� dW

���� !�����
��� ��� �� ���� ���6 ��
���������� (	
����
�������#��)*������

kKm �� 
��
 15% �

������� 7� ��
 8��
������� ��
� ��� #��������
 ���������

����
 (	
��
��
�����#��)*���� $�
��������*�� ��*� ��� ���������� ��� ��


������
��� ��� �	���������
��
���
�������� ��� ���� 
������ �
���
�� �	��

��������
��
�� ����4*��
� ��
��� �
�����

����� ����		
���
������������ ��� ����	�
�� ��� ����

���� ��� �������� ��� ������ �!������������

7� ��� 2�������� ����������� ��
��� ��� ���������* ��� 
��
� ��� ����
#
����

����� 9������ �� 

2� ��� ��� 9�������� ��� %��������� �����
��
���������

�� ��� �/���� ,
���� ��� ��� 5: �
������� ��
 ������	
��
��
�
����� *�

#�	
���



��� �� ����	
��
������������

����������	�
���� 
��
��	

����	
� ������	
	���

�� ���� ���� 	��� ��� ����������� ���
���������	����������� ��� ����		���

�� αAb ��� ��� �� ��
���� 	���� αKm ���	!�� ��"� "�� ���� ����	��������	��
�

!������ ϑAb,e #�� 500 ◦C ��� ����� ����	
�		��	���
 ṀAb #�� 500 kg/h "��

���� #��	�������� �� ��
���� ������ pKm,H ���� ��� ���
������ �� ��
���� �

���� ���� (Lx/Lm) �����������
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ϑAb,e ≈ 500◦C, ṀAb ≈ 500kgh−1

αAb

αKm(pKm,H ≈ 50bar)

αKm(pKm,H ≈ 42bar)

αKm(pKm,H ≈ 45bar)

���� ���� ����$ ����	� ��� �� ��
���� 	������ ���
���������	�����������

αAb ��� αKm �
 ���������	���� %����������� ���� ��� ���
������ �� ��
���� �

���� ���� (Lx/Lm) 
�� ��
 �� ��
���� ����� pKm,H � 	 &���
���� 'Δ( 50bar)

o( 45 bar) x( 42 bar*) 'ϑAb,e ≈ 500 ◦C) ṀAb ≈ 500 kg/h*�

%�� ��!�������� +���������	 ����� �
�	���� ��� ,�
�� ���� -���� 
�����

������ 
�� ��� ��� .�"�����
�		��� 
����� ��� ��� /����������� ��� ��� 0��

������� ��� ����� ��� ����� ��� �����!� ����� �
�	���� ��� -���� 
������

%�� �� ��
���� 
�		��	���
 ṀKm �� ��"� 	��� ��� �  �� ���� 1������	!������

��" ����"��� 77 g/s� %�� �� ��
���� ��������	��
!������ ϑKm,e  ���� �
�	����

12, 5 ◦C ��� 12, 9 ◦C� �
 2����	��� ��� .������� ��� .�"�����
�		��� 
���

��� ���
����� �� ��
���� ���� ���� (Lx/Lm) �
 #�� �������� 3�  ���	!�������

��� 1�	��������� ��	 ��	������ ����� �� ��
���� 	����� ����� 	����� 1�������

'1�7* ��	�����	�����

%�� ����		������ ���
���������	��������� αAb 	���� �� ��� 1�������� ���



�� ������	
��
��
�
����� ���

��
���
��� �	���������
��
�	��� (Lx/Lm) ��� �����	�
 421W/m2K �� �
����

���
 ������
����� ���
�
���� BAb,q1 �� ��� �����	�
 186W/m2K !� "�����

��� �	��� ������
����� ���
�
����� B2Ab,l ��� � #
 ����� �� �	��� ������
��$

��� ���
�
���� B2Ab,l ��� ��
�������� �����
 ��� ��� �����	�
 147W/m2K ���

�� �
����� ���
�
���� B3Ab,q2 ���� �%
���� ��
 &	
��
��
�����'��(!����

�����
 ��� �����	�
 431W/m2K� )�
 *�
���� ��� &	
��
��
�����'��(!���$

��� αAb ��� �� ��� �
�� ��
���������� "��
����%��'��� '��������
 ���������
����$

���%�
���
 ϑAb,e ��� '��������� �������������
��� ṀAb �
��
��������	+

����!� �������,�- �� ��,� ��� ������������� ��.�����$/����� ReKm- 0
�����$

/����� PrKm ����� ��
 ��

�'��
��'��
 KT,Ab '��� ����
�,������ ����� ����

#���- #��1 ��� #��2 � )�� #
�	���
����� ��� ������������ *�
����� ��
 ����$


��!������� ������ ���
 �������

)�
 '	���������������� &	
��
��
�����'��(!���� αKm ���'� �� ��� "�
��$

,��� ��� ���
������� �"�
��,� 1 �� ��� �����	�
 1500W/m2K ��� 630W/m2K�

)�� 3���
�,����� �� ��� *�
�	���� ���� ��� ��� ����
�,������,��� �	���������$

�

,'�� pKm,H ��
���- ��� ����
��� ��
 ��,� ��� ��� �	����������
�,' �� ���

��� ��,�� 	���
���� �4%�
�������� 
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(��������%������� ẋth,m ���	) *�� ����

��� ���+ ������� ,�� ��	
���� ������� ��� ��
 $�
���%���� !������� ����

�� ���� ���� �� ��
 '%

���
(���� �� �� ��� -	
��
��
��������.!���#

��� αKm ��� ��� /������ �����	�
 465 W/m2K �pKm ≈ 28 bar� 610 W/m2K

�pKm ≈ 32 bar� �!�� 1560 W/m2K �pKm ≈ 37 bar� ��������� "��� ��
����#

��� �	����������
��� �pKm ≈ 28 bar� ��� ��
 -	
��
��
��������.!���� ��

��
 '%

���
(���� αKm,zp,S ����
 ��
����
 ��� �� ��
 0��
���!��� αKm,g� ,��

-	
��
��
��������.!������ ��
 '%

���
(���� ���� ���� ��
 "�
�������

��� !� ����� �	����������
��� pKm,H ��� �����	�
 33bar �� ��� '�����������

���� ��� �	����������������� ��

����
�����
�� KT,Km ����
 ������
 ��� ���

-	
��
��
��������.!������ ��
 0��
���!��� ����� ���� &����� ����
��� ��#

��� ���������� �������� ��
 1
�����#2��� ��� �	���������� ��� ��
 3�������

Pr′Km �� 4������� ��� �
�������� ,
���� ��
��� ��� ���� *�� ���5 �� �����

�	����������
��� pKm,H ��� �����	�
 33bar /����� �
()�
 ��� ��� -	
��
��
#

��������.!������ ��
 0��
���!��� αKm,g� ,�� -	
��
��
��������.!������

��
 0��
���!��� ��
������ ���� !� �����	�
 475 W/m2K �pKm ≈ 28 bar� 

510W/m2K �pKm ≈ 32 bar� �!�� 620W/m2K �pKm ≈ 37 bar��

,�
 $�
���� ��� �	����������������� -	
��
��
��������.!���� αKm 
��


��� "�
����� ������� ��
 ��
���
��� �	���������
��
�	��� (Lx/Lm) �� ����

���� ��
� ��)������� ��
�� ��� "������ ��� �	������������%������� ���������

,�� �	��������� ������ ����
�
��� ��� ����� "��
����%������ ��� ���� ���� ��

6��
 ��� ����� ������
(���� "
���� B3Ab,q2 �777� ��� ��� �� ��� �	��� ����#

��
(��� 4��
�
���� B2Ab,l �77� ������� ,����� ��
���%�� �� ����
 ������	����

�� �	��� ��� ����� ������
(���� 4��
�
���� ������ �� ��
� ��� �� �
����

6��
 ������
(���� 4��
�
���� B1Ab,q1 �7� 
��
���!� ��
�� ,�� 8���
�������

�� ��� �	����������������� -	
��
��
��������.!������ ���� /� ���� ,
�����#

���� ��
����� ��� ��� ��
 ,��������� ��
 &9%�
������ �
��
��� ��
��� ,��

�����
������ ��
 :���
��� ��� �	����������������� -	
��
��
��������.#

!������ ��� ��� 8���
������� �� ��
 �� ��� "��
����%������ /������ ���(������

-	
��
��
�
���
;	��� /����� ��
������������ ��
��� �� ��
 �	����������������



��� �� ���	
��
�����
�
	����

��
�����
�	��
��������� ��������� ����� ��
����� �����

 	� ��� ��
��!

��
���	�� ��
�����

"�� �� ��� �#$�
������� 	�
 ���� ���% 	� �������� &������ ��
 ��� 
���!

������ ���
���
�
��� 
�������� ���
�
	����� ��
��
�
�� �	�� ����� ��

��� �����������
������� ��
�����
�	��
����������� ���
����� 
���' ���� ���!


� �	�� ��� (����	����

��������� ��	������� )�� ��
�����
�	��
����	!

��
��
 ��� 
��������� ���
���
�
��� �������� ���������

���� ���* ����� ��� (����	����
�
�����

� ��
 ��
�����
�	��
�����������

��
 ���	

���� αAb ���
 ��� ��
�����
�	��
����������� ��
 +����������
��!

�� αKm ����

������� �	�� ��� �����������
������� ��
�����
�	��
����	��
!

���  �
 	��� +������������

����� �� ����
�
���
���� "
�����
�����

10
2

10
3

10
4

10
5

100

200

300

400

500

600

αKm/(W m−2 K−1)

α
A
b
/
(W

m
−
2
K

−
1
)

αKm,g

αKm,zp

αKm,zp,S

αKm,us (B3Ab,q2 III)

αKm,us (B2Ab,l II)

��������� ���*, ��
�����
�	��
����������� ��
 ���	

���� αAb ���
 ���

��
�����
�	��
����������� ��
 +����������
���� αKm,i  �
 	��� +����������!

��

����� �� ����
�
���
���� "
�����
���� -x. αKM,us' o. αKM,zp' �. αKM,zp,S'

Δ. αKM,g/�

"�� �����������
������� ��
�����
�	��
����������� αKm )�� 230W/m2K

��
 �� 60000 W/m2K ������ ��� ��
 ����
�
���
���� ��
�����
�
	���� ����!

���
� �� ���
�
� 0
12���
����� ���
 ��� 	��	

������� ��
�����
�	��
!

����������� αAb�

"�� 	��	

������� ��
�����
�	��
����������� αAb )�
�	���� 
��� 3�	���	��)



�� ������	
��
��
�
����� ���

��� ��� ��� ������������ ��
 ����
����������� ��� �	
��
��
��������� 

������� ��� �
����� ��!
�
����� B3Ab,q2 "###$ ���� �� �
%&��� ��� ��� ���

������� ��!
�
����� B2Ab,l "##$ �� ��
�������� ��� �	
��
��
��������� 

������� αAb ��� ������� ��!
�
����� B2Ab,l "##$ ���� ��������� !�'!( ���� ���

������������� �	
��
��
�
���
)	'!�� AAb,i ��� ����� ��� ������������� *� 


��'!� �� *����� ��� �	���������
%���� ��!
�
����� +� ��'! �	������������ 

����� �	
��
��
���������������� ����� ��
��� �%���� ��� �������� ���

,�������-���� ���
� �����.
	�� �����

��� ��
 /	�������������� ���� ��� �	
��
��
���������������� ��
 0�
 

���.���� αKm,zp �� �
%&���� ��� �	����������������� �	
��
��
��������� 

1������� ��� ����
�
!���� ������� αKm,us ���� ��������� ��
����
 ���
 �� ��


����'!�� 2
%&���
����� ��� ��� �	
��
��
���������������� ��
 0�
���. 

���� αKm,zp� �� ��������� ���� ��� �	
��
��
���������������� ��
 �.

! 

��
%���� αKm,zp,S( ��� ��� ��� �	
��
��
���������������� ��� 
��
!������

/	���������� αKm,g �
%&�������� �� ���� 2
%&���
����� ��
����
 ��� ��� /��� 

1������� ��� ����
�
!���� ������� ��� ��
 ����.!������ ��
%���� �����



��� �� ����	
��
������������

��������� ��� 	�
��������
����
�� ���������������� ����
�
����
�

���� ���� ����� ��� ��
�������	�������		� ��	 �
 ����������	���� ������������

������������ ���
�	���
	 Q̇sim ��� ���  �
������� ������!�� ��
���������

ΔQ̇ =
∣∣∣(Q̇sim − Q̇)

∣∣∣ /Q̇ ���� ��
 �"#���
������ ��
�������� ���
�	���
 Q̇�

0 5 10 15 20 25

5

10

15

20

25

Q̇/kW

Q̇
s
im

/k
W

0 5 10 15 20 25

10

20

30

40

50

|Δ
Q̇
|/%

ΔQ̇

Q̇sim

ΔQ̇ = −10%

ΔQ̇ = 10%

��������� ����$ ��
�������	�������		� ��	 ���
�	���
	 Q̇sim %�&
��� Δ'

��� ������!� ��
��������� ΔQ̇ %�&
��� o' ���� ��
 �"#���
�������
 ���(


�	���
 Q̇�

��� ����������� ���
�	��)
� Q̇sim ������ ��� �"#���
������ ������������

���
�	���
 Q̇ *��������! ��� ��+ ����	������� ��� �"#���
�������� ���
�(

	��)
�  ����� ����������� 
�� ��
��������� ΔQ̇ !�� 9% ��	 14%� ��� 
���(

����+ �����
���	��� ,�������
������� ������� ��
� 12 %+ 
�
�� ��� -�����(

�������		� ����������� ��.������ ��� ,�		��
��������� ������� ��� ��
��(

������� ��� ��
�������	�������� 	������ ��� ����
 ��������
 ������������

���
�	���
 Q̇ �
 ����	 ��	 �� 5 % ���� ���� ���������� �&	��
�����

��� ���� *��������!� /�	�

������ �
�	���� ��
 ������������ ���
�	���


��� ��
 ����	( 	�
�� 0����
�����
�		��	���
 
���� ������	 �� ��� -���(

������ �� ��� -�1�����
�		����� ��� ����� ����
�����	������� ���
�����(

������ ��	������� ��� ���� *��������!� ��������� ��� ���
�	��)
� 
�� ��


,����� 1�� ��� ����������	��� 2����
#1��� �	� ����� ����� ��	��������+ 
��� ���

�����
�����	������� ���
���������	���3������� 	� ���. 	���+ ��		 ������ ���



�� ������	
��
��
�
����� ���

���������� ��� 
��
�
������ �	
����
�� ���������

��� ��
���	����� ���
���	���� ��� 
��
�
������ �	
����
��� ������ ����

��
���	������ ����
���	���� ��� ��� ����
������������ �� ��
 ������� �� 

�

���� ����! ���� ���� �� ��� ����"�
�� #	"�������"
��
 ������"���"��� ��

$��"��� ��� #	"�������"
��
� ��� ������ ��� %�"" �������"�����! ����
�
�"���

&�
������������� ������""�� ��
 &���������� ������ ���� ���
 �� &�
������ 


������� %�
����
�� '� ��
 (���
���
 )���� ���� ����
��������� ��
 *�
���� 


��� ��� +������ ��� ����
�
�"��� &������ ����
��� ���� ����� �������"����


&�
������ ��� ,��-�
���
-
�)"� �� ���
���"��� ./"����� ��� (���0 1
�!

�2234 ���
 ����
��� %�� ���
��� #	"�������"����
�
�"����� ΔTH .&��� ���

5���
! �2674! ��� �� ��� %�
"�������� $8-�
������� 9� ���� ����
�
��������

#	"�������"�
��� �������� 65 K ��� 90 K %�
���
��� $��� ��"��� *�
����
���

������ ��� �0����������� ���
���	���� ��� �8-�
������""�� �	
����
��� �
 

�"	
���

'�������� ���� ��� ����
�
�"�� &����� %�
����
� ������! ��
� �� ��� :"	 

���������"�� AKm,j �� ��
 &���"����� ��
������ �

 ��� ����
������"����� �	"�� 

�����"�������� �	
��
��
���������������� �� +���� ��� ��� ������� �	
 

��
��
�
���
;	��� AKm,ges ����"���� ��� �� ��
 &���"����� ��
�������� :"	 

���������"� (AKm,i/AKm,ges) ��
 %�
����������! �	"�������"�������� �	
��
��
 

��������<������� ��� ����
�
�"��� &������ αKm,us! ��
 *�
���-���� αKm,zp!

��
 &-

���
����� αKm,zp,S ��� ��
 ���
������� αKm,g ���� �� ���� ��=>


��
 ��� ��
�������� �	
��
��
��������<������� ��
 #	"�������"����� αKm

�����
����� ��� :"	���������"� �� ���� ��=> ���� "���
�������� ������
����!

����� ���� ��� ����"�� ��
����� :"	���������"� �����
 �
������ "������



��� �� ����	
��
������������

10
2

10
3

10
4

10
5

10
1

10
2

αKm/(W m−2 K−1)

(A
K
m
,i
/A

K
m
,g
e
s
)/
%

(AKm,g/AKm,ges )

(AKm,zp,S /AKm,ges )

(AKm,us/AKm,ges )

(AKm,zp/Ages)

B2Ab,l (II)

B3Ab,q2 (III)

��������� ����� �������������� (AKm,i/AKm,ges) ��� ���	���������� �����
���

���	������� ���
���������	� �!"������ ���� ��� ���
���������	� �!"����

��� ��� #����
�����	���� αKm $x% (AKm,us/AKm,ges)� o% (AKm,zp/AKm,ges)� �%
(AKm,zp,S/AKm,ges)� Δ% (AKm,g/AKm,ges)&�

'�� ������������� ��	 (��� � 
 ����	 �
	��)
��� ������� * ��������	

B3Ab,q2 $+++&� �� ��
 ��	 #����
����� ���� ��� ,�
����� �	���������� ������

������ ���������� 	����� (AKm,us/AKm,ges)� ������� ��
� 8, 5 %� ��� ��	 �


"
����� * �������� B2Ab,l $++& 	����-������ ����������� ,����� 
��� .� ����

#����
���������� ��� /������	0���� 
�� ����1��� 23 % ��	 "� 76 % ��� ��)2�

�� ������ �� ���
�����������3���� (AKm,us/AKm,ges) ���)����� '�� 1�� ���

1��1 ��	������� ��� 4����
01��� .�
���	 ���)����� ���
�����������3����

(AKm,zp/AKm,ges) ��
��� 	��� "
�	���� ����1��� 2 % ��� 15 %� '�� 5����

���"��� 0�		���� .� ���� /������	0���� ��1 ��
� 2% ��	 40% ��� ���
������

������3���� (AKm,g/AKm,ges)�

'�	 #����
����� 	����� �
 ������� * �������� B3Ab,q2 $+++& ���� ��� ,�
����

�� �	���������� ��� ����� /������	0������ ����������� '�	 ����������� ,�����

	��"� 	��� ��� .���� *������� ��	 �� ��	 ����	 � 
 ����	 ����	��)
�� * ������

��� B2Ab,l $++& 1 ��� '�� 4����
01��� -���� 
��	���	 � 
0���� �
 ����	 � 


����	 ����	��)
��� * �������� B2Ab,l $++& 	����� �� ������� /������	0������

� � ����
 �������� ����	
�		��	��)
� �����
01� ��	 #����
����� ���� ����

��	� � ��	������ �
 ��	��� * �������� B1Ab,q1 $+&�



�� ������	
��
��
�
����� ���

��� ��
�������� ��	����������� ��
����������� ���� ��� ��� �	���������������

��� �	
��
��
��������� ���� �
�!�����
 "��������������� ��� ��� ����
�

�
���� "����� ��� ��
 �	
��
��
�
����� ��
������ ���� ��� ���� ��
 #�����

��� ����
�
����� "������ ����� ���
� ��
 !��
� �����$���� ����� ��� �	
���


��
��������� ������ ��� %
������ &	���������� ��
��� ���� ��� '
�!�����

��� �� ��� "����������
��������� ����
 ���������� ���� (
!)���
����� ���

�
	�� *���� ���� '�+,-� ����� ���������� �
!)�
 ��� ��
 ������������ �	
���


��
��������� ���� ��
������ *���� ���� '�+.-� /��� ��� '
�!���� ��� �	
�

��
��
��������� ������ ��
�� ��� ����
�
���� "����� � �� ��
�� ���� ���
��

0�
 !��
��� ��� #������ ��� ����
�
����� "������ �	�� �� ��� ����� (
�)�

���� ��
 1���2����� ��
�� ��� 3���
���	� �� ��� 
��
�
������ �	
����
���

�������� ��� �42�
���������� '
��������� ��
 �����  �
 0�
���25��� ��� &	��

���������� ��� �� ��������� ����� ��������
�� ������� ����� ���� ��������������

������������� 6������ ��� ���� ������������� ����
�
����� "�
!������������

���� ���� �� �
���
 7	��
���  ��
�8���

9�
 ������
�� "����������
������� �
���� ���� ����������
����� &�

����

����  �
 #��������� ��
 0�
 !��
��� ��� #������ ��� ���� �������������� ���

��
�
����� "�
!������������ �� ���	�������� ��� ���������� :�
�����
� ���

��
 �	
��� ��� 1�������
�������� ����� ��
 3���
�
����� �
�
������ ��
�

���� ��� ���� ���� "�� �� ��� *+;;�- �� ��
 <���
���
 ����� $�����

=� �����
���� ��
 (
!)���
����� ��
 �	����������������� �	
��
��
������

���� ������ ��
  ���2������� "�
!���� ��� ��
�� >���
����� ���  � �����

������
�� "�
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�� Ṁ0 ��� ��� ��
������
 ������	 ��� ����	 ���� ��� 

	�����	��� �
)���	� ��� 
�
������
���	��� ,��
��	)��� ��	 ��� ��������
 �"	�
 

��
 !��	
�		�	����
�	�
 �� ��� ��
������
 �
�+� ��
�� ��� ���	�
�� 2(���

��� !"��������
��	��� �	����� ��
 ��
����������
���# ��
 ���	���		����� 

����	
�� ��� ��� �
)���	� ���	�����	��� ���	�
� ��� ,��
��	)��� ����	 ���

����	��	�
 �"	�
��
 !��	
�		�	����
�	�
 �� ��� ��
������
 ��� ��� !"��� 

�����
��	�� ���� ������� ��'(��	 ��
��� ��� ��� �������� 
�
������
���	���

,��
��	)��� )�
 ��
������� 
�� *�	
�����	'
����� ��
�� ��� 3������� 
��

���	���		��	
'������ �

����	 ��	�

��� 4������� 
�� 3�	
���� ��� 0����	
�� ��
� ��� �� 3������		 .�.�� �
 

���
	 �� ������	
���
�
����	�
 
�
)'��
	 ��� ����	 
�
����	�	# ��
�
 ��� ��

��������	�
 
�
5�����	 ��
�� ����	 ������+�� ���� ��
 
���	� ��� ��������6��

�
����
�)��� ��� ���	���		����

��� ��������	�����
�����
��� $pK1 ≈ pK2% ��
� ���
 ��� �� 7�������� �� 
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���� ���
��� pK � � 10 bar ��� ����
 #����$
���� � �������� �����	�
���


ϑK � � 39, 4 ◦C �������� ��� � ���� %���
�&����� �� 2 K ����	��������� ����

���	
�
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����
����� � � ����
��
 0, 5 bar' ��� ��� ����
 ���������������"

�� � � 1150 kg/m3 ����
 (�����
����$�� ��
 ����
��	��	� � � 4, 5 m ���"
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 � �������"

�
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�
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�
������� ��
 +����� �����
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��� ��� .��
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$��� ��� ������������ � � ( ��" #�� 3����
�
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������� !��� .��
���
����� ��� #��������� �
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�
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&��
 ��� �����
�� �����
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���� �� +�������� ��� �
�����
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� 
 ��� 12	���� �������� ��� ��
 � ��������
��	��	� ���������' �� 5�
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 ,��	� 
�
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 ������	
��� $�	�������� ���� ���
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�������� ��� ��� +��  ����$
���	
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��� ��� *$�	����	 ��
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��� *���% ���� *��	�����
 ��
� ���
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����������� ��
�� ��� �)	�
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��
	� ��
�� ��� ,������-�$��� ��
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���	
"������ !�������	
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��� ��� 1)��
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��%

���
	
���
�
���	��� ����	� ��
 !�
������� ��
 ���������� 
�� *$�	���	%

	�� �� *�������	�
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������������ �� ��� ������ ���� �� ���� ��� ������� ��
 ��	�
���  �������

�	
!�� ��		��� ��
 "�	
������������
�� �����	
#��	��	 ��
�� ��� 
�
��������

$�	%�������� ��
 &���� 
�� ��
 ������ ��� ��� '�
������� ��
 �	
!����

��
�� ��	��
������� ���������(�
��� (��
 )�*���� &����
����#���� �	���	� ����

��� ����� &������	�� ��� ����	 ���
������� ��
���� ������� ���#	������ ��+�

������ ��
 ������������#������ 
�
������� ��
��� ����	���
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#������� �#�	���		��� ��� ,134�

���� ��
 �������� ��
 �����	�� �#�	���		���(����� ������� �� ������ %���

���		� ��������� ��
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 ���� �� ������ -���% (��
 )�*����  �
����

������ ��
 �
��%� ��� �������	� ��
 &���� �!���
�
�	�����
 ���	�����
	 ��
�

���� �� ���� ��
 �������
 
�
 ��� �������	� ��
 &���� )(���� ��	���
	 ��� (��


��� �
��%���	� ��
 &���� )(���� ���(��	 ��
��� %����



��� �� ����	
���
�������
����

��� �����	
���
�������
�����
�
��

�� ���� ��� �
� ��� ��������

�������
�
� ��������� ��
 �����
��
��� ����	�


���
�������
�����������
� ��� ��

�� ���
���
��� ��������
�
�� �� !�� 
�
��

����
�
 �����
������
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��� $%��� ��
 ��� ��� &��'�� βs2,min2 '�������������� (���
 ��� $�����)�


� �
� Ls2,min2* ��

�� �� !��� ����
��

�� ds2 ��� ��� ������
�� ����
��

��

dmin2� ��� $%��� ��
 ��� ���&��'�� βmin2,a2 �������������� (���
 ��� $�����)�


� �
� Lmin2,a2 ��� ��� �)
����
�����
����
��

�� da2� ��� �� !�� ����
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��� +���'����� �
� dS* ��� ��� ��
 
��
 ��� +���'����� ��� ��� &��'�� βS

��
 ��	 ��� ,�
�
'���������
��

�� dM �������� ��� ��
���� ��� ��
�����

��� $�����)
� ��
 -�� .����� ��� ,�
�
'����� �
� Δa2,M � .��� ����������

��� ����	
���
�������
��� �
� ��� ��
����� ��� $�����)
� �� ��� '���������

������ (��� ��� +���'����� ����-����* ��
� Δa2,M > 0* ��
 �� ��� $��������

��
 /�����
��� ��� '��
������ ,�
�
����' ��-���
��� ���� 0���� 1����� ���

2������* �3��4 1����� �� ���* �3567� ��� $%��� ��� ,�
�
'����� �
� LM �

��� 8����
�
�����9�
�� ��
��-� ��� $%��� LD* ��� ��9�
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������� ���! �����	
�� ��� ������	
���
�
����	�
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�	�	����

���������	
���
��	�����������

"��	
�		���
�������
 #�
��� �� ds2 [mm] 18

��������
 #�
��� �����
�������
 dmin2 [mm] 3, 04

#�
��� ������	
�		���
�������
 da2 [mm] 6

$���%����
��
�������
 dS [mm] 37

&����%����
��
�������
 dM [mm] 7, 7

��'���
���	
�		���
�������
 dD [mm] 25

#(��� %��
�
���
����
 #�
��� ���	��� Ls2,min2 [mm] 13

#(��� ��
�
���
����
 #�
��� ���	��� Lmin2,a2 [mm] 17

&����%����
�(��� LM [mm] 78

��'���
�(��� LD [mm] 124

)��	��� #�
��� ������	
�		 *�
 &����%����
 Δa2,M [mm] 10

+��
�
���*,��%�� #�
��� �� βs2,min2 [
◦] 49

��
�
���*,��%�� #�
��� �� βmin2,a2 [
◦] 5

$���%����
,��%�� βS [◦] 40

��'���
,��%�� βD [◦] 4

��
 ������	
���
�
����	�
�
�	�	�� ��	 ��� "����	��� -1.4000 ���� ��. ".

10088�3/ ��	 ����
 ����	� ρ 
�� 7700 kg/m30 ����
 ���*�1����� �����
�� 2(
�

��%���*�	(	 cp 
�� 0, 46 kJ/kg ��� ����
 2(
�����	�(���%��	 λ 
�� 30W/mK

����
	��	0 ,���	 �����(�
 4 kg ��� ����	*	 ��	�
 3�
,������ ��
 ��4������

)���������� ��� 3������ 
�� 0, 62 dm3 -Lges = 0, 305 m0 da = 0, 051 m/�

$(�	����� 3�
���������	����� �� ������	
���
�
����	�
 ����  ��
 5���	�	
��
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�$�	����� ��
 %��	�����
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Ka2 ·κa2√
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2 ·κ∗
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·Maa2

·
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1 +
κ∗

2 ·K∗
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2 ·Km
· κm · (1−Kp)m−1

κm · (1+KT )m

1 + κa2 ·Ka2
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2 · (κm · (1−Kp)m−1)

1��23

��� ����� ��� ��
 ��������
�
 ���
��� ����
�
����
 Amin2 ��� ��� (���


�
�)����
��
� KE 
����� ��� ��� ��� /�

������

��������
��� ��, �� ������

+�� ��2 ��� ��� ��� "���
�����
�����

� ��� 8�����)
� ����
�������� +�� ���#

���)� 
��
���� ������! 
�	��� ��� (��
�
�)����
��
� KE �� ���� �
��

��
 "���
�����
�����
 ��
 ����	
���
�������
���������=�
 (Amin2/Aa2) ���

����� 0, 2567� 9�� $����
���� ��� �� ���� /��
�9�
� �� �)
����
����� Maa2

���� ��� 0�����
�����
��� #��; ���������! ���� ��� ������
����� ���
�
��

��� ��� �����	�
� �
��� �
� �
���� ������ ��� ����������� �
����	�� μ ��� ��� �������� 

�
���!	�� ���"���# ��� �� ��� �
���������� $����� 	��� ��� ��� %�������	�� ��������� ����&



�� ������	
���
�
����	��� ���

��
 ��������� ��
 ����
����� ��� ��
 ����������������� ��� ������ ��������


�
���	��� �� ���� ���� ��	��� ���	���� ����� !�� �� "��� #��$ �� ���	 !�
���

���� ��
 %��	������ ��
 &����'��� Maa2 ������ ���� ��� (����
�	�
 Ta2

��	 )�� #�$� �*!�� ��
 �
��+ pa2 ��	 )�� #�$, ��
������-

Ta2

Ts2

=

(
1 +

κa2 ·Ka2

κm ·Km

· κm · (1−Kp)m − 1

2 · (1 +KT )m
·Ma2a2

)−1

.��/0

pa2
ps2

=
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������� x ��� ��
 ��� #
�������� �
��# p∗0

����	���� ��
��� ����� ��(��� ���� ��� %�
���������������

��
 )���������� �� *�
���	
�
� ���� ps0 ��� Ts0� ��
�� ��������� ��� &�� 

	�
���
 Tx0 ��� ��
 �
��# px0 ��
������ ���� ��� #
������� &��	�
���
 T ∗

0 ���

#
�������
 �
��# p∗0 �� ����
 +!��
��� ��� 
����,

Tx0

Ts0

=
T ∗

0

Ts0

=

(
2

κ̃Tp,s0 + 1

)
-��./

px0
ps0

=
p∗0
ps0

=

(
2

κ̃s0 + 1

) κ̃s0
κ̃s0−1

-��0/

1���
 ��
 $������ ��
 �
��#���������� ��� $��
���� ��� ������
�� ��

'��
������� x ���� ������ px0 = p∗0 = px2� 1���
 *�
������� ��� �
��#��
 

�!�������� (px2/ps2) �!��� ���� ���� ��� ��#��� 2��� 3��� ��� $��
������
���

Max2 �� 4��#� x ������� 
�������
 5�������� ���������,

px2
ps2

=
p∗0
ps0

· ps0
ps2

=

(
1 +

κx2 ·Kx2

κm ·Km

· κm · (1−Kp)m − 1

2 · (1 +KT )m
·Ma2x2

)−
κm · (1+KT )m

κm · (1−Kp)m−1

-����/

��� �
��#��
�!����� (p∗0/ps0) ��
� ��� 5�� ��0 �������� ��� ��� �
��#��
 

�!����� (ps0/ps2) ��� �������� 2�� ��
 ��#���� 2��� 3��� Max2 ������ ���� ����

��� &��	�
���
 Tx2 ��� ��
 ��#��� ��
6�����7��
������� ��� $��
������
���

Ax2 ���������,

Tx2

Ts2

=

(
1 +

κx2 ·Kx2

κm ·Km

· κm · (1−Kp)m − 1

2 · (1 +KT )m
·Ma2x2

)−1

-����/

Amin2

Ax2

=

√
Kx2 ·κx2√
K∗

2 ·κ∗
2

·Max2

·
(

1 +
κ∗

2 ·K∗

2

2 ·Km
· κm · (1−Kp)m−1

κm · (1+KT )m

1 + κx2 ·Kx2

2 ·Km
· κm · (1−Kp)m−1

κm · (1+KT )m
·Ma2x2

) 2 · (1+KT )+(κm · (1−Kp)m−1)

2 · (κm · (1−Kp)m−1)

-���8/



�� ������	
���
�
����	��� ���

��
 ��
���������� ��
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� ��
 ��� �����
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 Tx2 �� ��� �����

������� ��
 ��� ����	
 ����!� ���	�� κx2 ��� κm" ��� # ��
����$���	%	�&�����

Kx2 ��� Km ��� ��
�� '$���	����� �%��
��������� ��� (
�	����� �����
��

	�
 T ∗

0 ������	&	" ���� ��
�� )���
����� ��	 ��
 �����
�	�
 �� ��
���� ��


�
��(� &������� 1 bar ��� 4 bar �� *��� ��
 *�	�������� ��
��� ����" ���

$�
��	� �
�%�	�
	 ��
��� ��
 �
��( px2 ��	 ����
��� ��
 '������ ��
 �
��(�

���������	 (px0 = p∗0 = px2) 
 � 
 
���
��� $�(���	�

��� +�������� Max2" ��� �����
�	�
 Tx2 ��� ��
 � (��� ,	
-�����.��
�

�����		 ��� '�	
��$��	
 �� Ax2 ��� ��� ���/" ���� ��� ���0 ���� �� ��
 
 
�������

��� '
$��	 
���� 1������
-2��" ��� �!��
����	��� ����
 �
����	 � �� �$�
�
��	

��
��� (-����� ��� ��
������� ��
 �
-2�� Max2" Tx2 ��� Ax2 ��	 ��	��
��

����� ��
 ���(���� � ��� '$�����		 0���� ��� ��3�� �������� ,�� ��
��� ��

+ ���� &�
 ��
������� ���	�
�
 ,	
-������
-2�� $&�� ��
 +�	���

�	� ���

������	
���
�
����	�
� �$�
 ����	 �!���&�	 $��-	��	" � ���
� ������ ��
 4
��

���� ��
 # ����	��& ��� + ����� �� '$�����		 ������

��������

��
�� ��� ��
������� ��
 +������� � �� ��� +�	���

�	� μ ��� ������	
����


�
����	�
� $��	���	 ��
���� '�� ��
 +�	���

�	� μ ���� ��� 0�5 ��� ���

'�	
��$��������	
 � Ṁ∗

s2 ���� ��� ��3 (��� ���� ��
 ,����������	
 � Ṁ∗

s0

$�
�����	 ��
���� �� ��� ��
������� ��
 +������� ����� ��� ��
 ��
�������

��
 6�
������ � ��� ��� ,���� ��� 7$�
�������
���	
���$�
����� ��������� ���

�
-2�� Ṁ∗

s2" T
∗

0 ��� p∗0 ��� ��� ��� ��3" ��8 ��� ��9 ����

��
 '�	
��$�� ��� ��
 ,����	
 � $������� ���� �� ��� + ���� �
�	 ���	�


��� :��
�����		 x �� ��
 +����(����
 &� �������� ��
 �����&��
��� �	��

��� �
����%	&���� ��� +����� ��� *��
���$����& �� ��� ������	
���
�
�����

	�
 � ��� ��� ������$����& ��
 +������� &�
 ��
������� '�� ��
 *
���	��� ��


+���� �� ��� ������	
���
�
����	�
 �
��$	 ����;

Ṁs2 + Ṁs0 = Ṁ1 <���3=

��
 '�	
��$��	
 � Ṁs2 �

����	� ����
��� ��� ��
����� �
��(
�
�%�	������

πs1,s2 ��� �
�%��	 �� ����� *!��
����	�� �� ����	�� 6�
�������.��
�����		

Amin2 ��� 6�
��&��	���� ��
 '�	
��$��������	
 � ��	 � ��	 ��
���%���� (
��



��� �� ���	
��
�����
��������

������ ���� Ṁs2 = Ṁ∗

s2� ���� ��
 ������������
�� Ṁs0 ����� �� ��� ��	�
��

������ ��� ��������� �
�� ��
�!����� πs0,s2 �����!���� ��� "���������
�

������
��  �������� �
 ���� ���� ��� ��
 ����	������ ��� ��
 ���  
��������

�
�� p∗0 ����
���� ��� #����$������ �

������ ��� ��� ����
 ����
����  
�������

���� Ṁs0 = Ṁ∗

s0�

��%�
��� ���� ��� ���
����
����������������� 
&
 ��� ���	
��
�����
�����

��
 '�� 
����(

Ṁs2 ·hs2 + Ṁs0 ·hs0 = Ṁ1 ·hs1 )����*

��
�� +�
�
��� �
���� ���� ��� ,�� ���� ����
 -�
'������ ��
 ,�� ���. ���

��
 /��
&�

��� ��� ,�� ��0 
�������
 ��
 ��� ������	��� ��
 1���$���!���

hs2� hs1 ��� hs0 �����
����
 2����������� 
&
 ��� /��
&�

��� μ(

μ =
(hs2 − hs1)

(hs1 − hs0)
)����*

��� 	
� ������ -�
'������ ��� ,�� ���� $�
 3�
������� ��
 /��
&�

��� μ

�����
��� ��
 ��� ��� 4��	�
���
� ��� �
�� ��������� ��
�������� ��5��


��$�� ��
 ���
����� ���  ���������
�������� ������	��� (hs2 − hs1) ��� ��


 ���������
� ��� ��
���	
�
�������� ������	��� (hs1−hs0) ���$� ��
���� ����

��� ������ ��5�
��$�� �� ��� ��	�
������� �
�% ����� '�� ��
�� ��� "!��

��������� ��� ���	
��
�����
������
 ��� ��� 6
�$���
&�
��� �������� '�
��

,
�%� ������	����5�
��$�� ������� ���� ��� �
�%�
 ���
�����������
 7��
���$���

ΔT2 ���  �����
 ��
���	
�
�������
 7��
���$��� ΔT0 �$'� ��� !������ �
�%��

���
����� ��� ������������
8��� )���� μ ≈ 1* ����

9� ��� ��
����
&�
��� ��	�
������� ��� ��� "!��������� 1134� ���� ��� ����

��� ��5�
��$�� ��
 ������	��� (hs2−hs1) ��� (hs1−hs0) ��
��� ��� ������ ��

��
 ,
8%���
����� ��
 /�����'��������� ��
 ���$����� ������	��� h2,s� h1,s

��� h0,s� 2�
 3�
������� ��
 /��
&�

��� ������ ���� ��� ,�� ���� �� ��
 ��
����

������ �
���� ����
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�
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�����
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��� ���$����� ���
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��� �������
���	��� ��
 �������� �� ��
 ����������
� ���� ��� ����	���

	�� ���
�����		� ���	�	 ��	�
  �
�����!������� ��
 "���
������#

Ṁs2 ·wx2 + Ṁs0 ·wx0 − Ṁ1 ·wM

= (pM − px2) ·Ax2 + (pM − px0) ·Ax0 $���%&

'�	�
 ��
 (������ ��
 �
������������	 )*������ (�	
����� ��� +����	
��

�� ���
�����		 x ��� ����
 �����
�� ��������� ���� px0 = px2 = pM � �!��	 ����

��� �������
���	��� ��
 ����������
 *�� ����	 �����
�����#

Ṁ∗

s2 ·wx2 + Ṁ∗

s0 ·wx0 − Ṁ1 ·wM = 0 $���,&

��� (������ ����
 ��
	��������� ����	
���� -.������� ��� (�	
�����	
���

�� /
���	
��� ��	 ����	 
�����	����� *�� �� (������		 ����� ��� ��� ������������

��� �����	��
	 *�
��� -��� 0�

��	�
 �
����	 1��
 ��� 2����*��������	 wx2 ��

��
 �����������) ��	 wx2 = wrev
x2 ·φ� *���� ���	 wx0 = wrev

x0 �

�� ��
 3�	�
�	�
 4���� ���� ����  ���)��� 
��  �
���	���5)���	�� �1
 ���

(�	
����� ��� +����	
��� �1
 ��� �������� ��*�� ��� ��6���
� *�� �� (��

�����		 7���� �
*!��	 *�
��� ��� "�
	� ��
 0��5)���	�� ��� ��
�� (�*���

���� ��� ��� ����������������� 
�
���
�� 8� ���� (
���	������� ��� (�	�
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����� $
��� 0����� �	 ���� 79��: -���������; �	 ���� 7997&� �� ��
 
�
���������

(
���	 ���� ��
  �
���	���5)���	 φ �� 2������	) )� ��� ��
 3�	�
�	�
 �������

	�� 0��5)���	�� ��� �������	��� �� (�	
�����	
�� �� ��
 3�
���1�� ����
���


�� "���
������� 
�� +	�<
�
���	�� �� =��
�������
���	
��� ��� 
�� "����

���*�
������ ��	 ��� +����	
��� ���� >������ ��� +	�<
�
���	� )*������

������ +	
?������� ��������� ��� 
�
�
����� ��
�� ��� -�	�������� ��� (��

	
�����	
��� ��� ��� �
��� px2 = p∗0 �

������
� +	
?����������*��������	

��� (�	
�����	
��� wrev
x2 �� ���
�����		 x 
�

����
	 ���� ��
�� ���  �
���	�

���5)���	�� φ� *�� ��� ������
�
���	 )� 
�
�	���� ��	� (�� ��� ��	�
�	��� )�


0�

��	�
 ��
 +	
?����������*��������	 ��� (�	
�����	
��� �� 
�
���������

������ ��� ��� @�����6�����	 ���  �
���	���5)���	�� φ *�
� �� (������		

����� ��� ��
 A
1���� ��
 0�����	��) ��� ������� ���� ������������

'�	�
  �
*������ ��
 �����������) ��� 2�� ���� ��� ��
 ��	�1�

�	� *�
�

2�� ���, �������
����� )�#



��� �� ����	
���
�������
����

φ ·wrev
x2 + μ ·wrev

x0 = (1 + μ) ·wM

μ =
φ ·wrev

x2 − wM

wM − wrev
x0

������

��� ���	�
����� ���� ��� ��� ���� ��
 ��� ������� ��
�
������������ wrev
x2  

wrev
x0 ��� wM �� ��� ��
�
������ !�
����� ������� ��� "��#����
��
�
���$

��������� ��� �����
�!��� %��
������� wrev
x2 ��� wrev

x0 !����
��� 
��
 &�����
 ��


��� %������!����'�� ��
 (�����!
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����
 !�
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�
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�
���
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�
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 ��+�
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�
'��� !����
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�
��� 
��!
� ���
�
 !������ �
�� ��� .����
������ ���

������� ��
�
������������ wrev
x2  wrev

x0 ��� wM ��

�� 
��
 ����� ,���������

��� ������!
$ 
���$ ��� ������
����
������� )�
�'�
�*��� ��� �� /��������


���������� 	�� ��
 )�����
 ����
	�
���� ����
 ��� ,����
����0'������ φ ���$

��� ���� ��� )��
����
����!��

� �� ��� �1����������� ����������� %���!��

�
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� ��� �� (!
�
���� ����� ���
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2�� .�
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�
���������� wrev
x2 ���� ���
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��' ��	 ��� (�����!

��#���� ���������� %��� ���
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��'�3
�
� 4�������
����� ht,2 �� (�����!

���� !�������5

dht,2 = dh2 + w2 · dw2 = 0 ����6�

wrev
x2 =

√
2 · (hs2 − hx2) =

√
2 ·Δh2,exp ��� ws2 ≈ 0 ���78�

��� %�������
��
�
���������� ��
 (�����!

����
 ws2 ���� �� ,�������
 '��

������� (�����!

������
�
���������� �� 9���
�
���� x �� ����� :*
����� ���$

���
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���� (�	����� ��� ;�������� ��� (�����!
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�
���������� wrev
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�� ��� <����
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�
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��� %������!����' ��
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�
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 ������ %��
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��� ��	����������
��� Δh2,exp ����	 ���� ���
 ��� ����
��� ��
 �����������

��	������ ��� ��������� ���  �� !��" #�� �$��	 ���
�����%

Δh2,exp =
κm · (1 +KT )m

κm · (1−Kp)m − 1
·Km ·ZN ·R ·Ts2 ·

(
1− Tx2

Ts2

)

&�	�
 '�
#������ ��
 (���	
$������������ ��� ���������) ��� *
�	������

+����
��*
�
���	������ π∗

0 = (p∗0/ps0) ��� ��
 ,������ ��
 �
��*���������	

�#������ ,�	
����- ��� +����	
$� �� .��
�����		 x) ���� px2 = px0 = p∗0)

�
���	 ���� ��
�� �
#��	�
� ��� &��$
���%

Δh2,exp =
κm · (1 +KT )m

κm · (1−Kp)m − 1
·Km ·ZN ·R ·Ts2

·
[
1−

(
px2 · ps0
ps0 · ps2

)κm · (1−Kp)m−1

κm · (1+KT )m

]

=
κm · (1 +KT )m

κm · (1−Kp)m − 1
·Km ·ZN ·R ·Ts2

·
[
1−

(
π∗

0 · πs0,s2

)κm · (1−Kp)m−1

κm · (1+KT )m

]
/��0�1

2�
 '�
���������� ��
 �������� *��� ��
 ��� !��	������ ��� ��		��
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(���	
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x0 =

√
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√
2 ·Δh0,exp ��	 ws0 ≈ 0 /��001
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�� ��
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Δh0,exp =
κm · (1 +KT )m

κm · (1−Kp)m − 1
·Km ·ZN ·R ·Ts0

·
[
1−

(
π∗
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)κm · (1−Kp)m−1

κm · (1+KT )m

]
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2
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κ̃s1 − 1

2
·Ma2Mn

) κ̃s1
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Ma2Mn =
2 + (κ̃Tp,s1 − 1) ·Ma2M

2κ̃Tp,s1 ·Ma2M − (κ̃Tp,s1 − 1)
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�
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TMn

TM

=

[
1 +

2κ̃Tp,s1

κ̃Tp,s1 + 1
· (Ma2M − 1)

]

·
[
2 + (κ̃Tp,s1 − 1) ·Ma2M
(κ̃Tp,s1 + 1) ·Ma2M

]
(��)0*

1�� 2�� ��)0 !�
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√

(κMn ·KMn ·R ·TMn) ·MaMn (��)9*
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��������	%	� ��� KMn ��
������

���� ��	 ��
 /����
�	�
 TMn ��� ��� �
��� pMn�

��
 &������ �����������  !������ ��
 �	
�����������!��������	 
�
 ���



��� �� ���	
��
�����
��������

���� ��� ����
������ ��
������������� wM ��� wMn ��
� ���� �� �������� 

���� ��� ��
 !��� "��� ��
 ��� #��� MaM ��� 
���� ������
�$

wMn

wM

= 1− 2

κ̃Tp,s1 + 1

(
1− 1

Ma2M

)
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s0 ��� ��� �
12	� 
�
����"

��
���	��� #��
��	$��� ΔT0�

��� 
�
������
���	��� ,(�	���		��%��
��	$��� ΔT0 
����	��
	 �%
 ����� ������"

��� ,(�	���		�������	
 � ��� ��� 	
�������� 3����
�	�
��4�
��$�� �� ��
"

������
 �$)� ��� ��������
 ��
���������	����
�	�
 ϑV ��� ��
 �/	�
���

� 
����	����
�	�
 �� ��
������
 ϑ01� ��� ��
������

 
����	����
�	�
 ϑ01


 � 18 ◦C ��� 33 ◦C )�
�� �� ��� ./��
����	�� ��� ��� +�)������� , �����"

	� ��� 
 � ��	
����" ��� , ������	� ���
��&��
��� �(��
����)���� & ��	��	



��� �� ����	
���
�������
����

��
������

���� ����� ��
 �����
���
������
 
����� ��� ��
��
��� �����
�� �����������

��� �������	������� ��� ����� ��� ��� ����	
���
�������
��� ��
 ��� ��� 

����	�� ��
����� !"�����������

��
����� ��� !"���������#���
��$��� ΔT0

��� 3 K ��
 40 K 
���� ��� ���
������ �������	��������	���������� ϑ01 ��

��� ���$����� %�

������� ��
 &���������
 ��'������
���"( ��� 
������ 

��� �������	����
�����
����� �$'� ��� 
��������� �������	���
�����������

��� ��� !�������� ��� ����	
���
��"��������� ��� �����������
�����

'#��� �� &����
��$ $�� ��
�
�������� ��������� ��
 �����
 �� �������	��

�� ��� ������������ ���� �������� 
���
������ )���
��$��� ��� ���������

*������
$�
���� ���
����
��� ��� ������	�
������� ��������
���������� ����


��� �
����
����
�
�
 �����
���
������ ����������� '�����+ '�����
 
��
 ���


��� ��$����� !"������
���� ���
������



�� ������	
���
�
����	��� ���

����� �����	

��
 �	� �	���	�� �� ���
	
��
��	�	���

��� �� �������		 ����� �����	��
	� ��	
����
�
���	�� ���� ��		��� ��
 ��
�	���

���� ��� ������	
���
�
����	�
��	
���� �� ������������
���� ����
����	���

��	�
����
	  �
���� !� ���� ��"  �
��� ��#� ��� ����
����	����� $
��������

�� %�
� ��� �� ���� ���& ������	���� ��
���	���	��' ��������������� ��	
�����

��������� ��� ������	
���
�
����	�
� ����	
���� �� �� ��� �� ��� ����
�����

	����� $
�������� ��������	� $���� ��
���	���	�

0.14
0.16

0.18
0.2

0.22 0.24 0.26 0.05

0.075
0.1

0.125
0.15

0.1

0.2

0.3

0.4

πs0,s2
πs1,s2

μ

πmin
s1,s2

πkrit
s1,s2

μ = 1, 13 + 0, 378 · ln(πs0,s2)

��������� ��"( �������������� )������� ��
 ����
����	����� $
�������� ��

������������
���� ��� ������	
���
�
����	�
��

*�
 ��
�	������ ��� ������������
����� ��� ������	
���
�
����	�
� +����

Mamin2 = Max0 = 1, �� $�������
� ���� ��� -�	�.�

�	� μ  �� �� ����

��" .��
 ��� ����
�	����
	�� �
���
�
�/�	������ πs0,s2 ��� πs1,s2 ����	
����

 �
���� ��� �� �������		 ��0�� �����
������ ��	
����
�
���	�� ��� ������

�	
���
�
����	�
�  �
� �� ��� $���
����	�� ����
�� ���	/	��	' ���� ���� )���

����	����� 
�� ��	
����� ��� 1�
������
���	
�		��
��� �����/���� 
�� )���

�����	�
������
��� �/��
���� ���� �� ��
 �� ���� ��" ��
���	���	�� ������

���������� ������' ������� ��
 )�������	�
������
��� ��	�
 ��� �
�	������

2�����
��� ����	 ��� ����	 ��� �
���
�
�/�	��� πs1,s2 ������
 ��� ��� �
�	�����

�
���
�
�/�	��� πkrit
s1,s2 ��	� ��� �� ��� ����
����	����� $
�������� ��������	�



��� �� ����	
���
�������
����

�����������
��� �������

μ = 1, 13 + 0, 378 · ln(πs0,s2) ������

��� ���	�
����� ������ ��
� ���  ��
������ !������
" ��� #������	����
�����
"

���� ���
 �$����������� ��� ����� ��
%
��� ��
 &�������� 
 ��
 '��  ����"


�
�� &�������� �� ����� ()
�����  ��
�����

���  ����
�
� &�������� pkrits1 *���� ��� ���
�
������� !������
���� ��

����
 ����  ������������
� ��
%
��� ��
 &�������� 
 ps1 ���  ��
������ #��"


)����
 ��
 #������	����
�����
" ��� !������
���� πs0,s2 ���������� ��� ��"

�������� ���	 *�� 	���� ��� ����
 !�
���� ��
 &�������� 
 ps1 
���� ���  ��"


������ !������
���� ps2 ��	����� ��� ��%+���� ���� ��,����' ���� ��
 �$"

���
���
������ ��� ��

��
���� �� ��� #������	�� ��� ��� #������	����
"

�����
���� ps0 ��� -� ��
 ���� ���
)����
 πs0,s2  ��
���� '� 
�����. ��

��

��
 �$���
���
������ ���
�������� �'*� ��
�
��

�� *������ ��� ���'�� &����"

���� ps1. ��� ��� ��
 /�
���+�� ��
 �$���
���
������
  ���� #����������� ���

���	�
����� ��*�� ��. *���� ��
  ����
�
�� &�������� pkrits1 ������0'������

���  ����
�
�� 1�����
������������� � pkrits1 ��
 !��� ��� ������� ����
 ���

2�*������� !������
���� ps2 ������� ���  ����
�
�� &�������� ���
)����

�

πkrit
s1,s2 �� !��� ��3� ��� �� 2���� ���
�� &������ ��
  ����
�
�� 1�����
����"

��������� 
 pkrits1 �����
�� ��
%
��� ��
 #������	����
�����
���� 
 ps0 ��


!��� ��4 ��
������� �� ��� 5���
�� ��� ���	�
����� μ ��� 
��������� ���� "

���
)����
 πs0,s2 ��	 ��� 1���� ���  ����
�
�� &�������� ���
)����

� πkrit
s1,s2 ��

!��� ��3�

��� #�������� ��
 #������	����
�����
���� 
 ��� ����� !������
���� ps2 ���

41, 5bar ��� ��� ������
��� 1�����
������������� ps1 ��� ����	)
� 7, 5bar

��
 ��� &�������� ������ ��
 !��� ��� �
� �� !��� ��3 ��
 1����  ��
������

��������� ���� ���
)����

�
 πmin
s1,s2 '� 
�
��� ��� *������� &�������� ����"

��� ��
 !��� ��� ��0���� 
��
 �� !��� ��3 '*�
�
�� ��� 1����  ��
������

��������� ���� ���
)����

�
 πmin
s1,s2 ��� ��� 1���� ���  ����
�
�� &�������� "

���
)����

� πkrit
s1,s2�

��� 6�
�
���� ���
)����
 πb
s0,s2 ��
 !��� 7��8 �
� �� !��� ��� ���
� '� 
�
��. *���

��� #������	������ �� ��� �$���������� ��	����� ����� �%����
�� #����
���

����� ���� ��	
� �	� 
���	�
����
 ��� �	��������� �	�	
�� ���
�������� ������
�� 	�

��� 	� ���
����� ���� �	�
�������� ����������
������



�� ������	
���
�
����	��� ���

��� ��
������
� ��� ��
�� ��� ������		� ��������� ��� ����������
��	��� ���

 � ����
 !�	�"�

�	� 
�� #���$ ���� ������ �����%
��
�	
��$ ��� ����	 ���

 �� &�����
���
�
�'�	��� ��������	 (�
��� ��
 &�	
��� ����
���� ��� )����*

�������
�����$ ����  (������ ��
 +�

� ��
 �
�	������ ,�����
���
�
�'�	�����

πkrit
s1,s2 ��� ��
 +�

� ��
 ,
�� ������
"���$ (�
�� ����	 ��������� ��	�
����	

��� ��	 ������� ����	 ��
���	���	�

-�
 
�
�������	��$  (��������������� ��
�	������ (�
� ��� ����� ��� )��*

���������
����� ��� )��� ��. ��� ��� μ*πs0,s2*����� ��� ��� μ*πs1,s2*����� �
�*

/� ��
	� )���
��� (�
��� ��� �� ��� ����
����	����� �
�������� ��������	��

,�
���� ��
���	���	�

0.05 0.06 0.07 0.08 0.09 0.1 0.12 0.15 0.2 0.23 0.260.29

0.05

0.1

0.15

0.2

0.25

0.3

0.35

0.4

0.45

πs0,s2, πs1,s2

μ

πs1,s2πs0,s2

minimale Druckverhältnis
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s1,s2 = 0, 23

COPth = 0, 944 · μ

πs0,s2 = exp((μ− 1, 13)/0, 378)
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s0 ��� ��� 1�
���	
�
 
-
��
�# ���� ��� 8����7	������

��� 9
����
���� ��� ��� :��������
������ ��� ��� (�����
�� �����;���� ��
%

���� ��� �� '��� ���0 ��
�� ��� /
������
���������� �
������
� 4������ �����

��
����� '������� ��
 $��
��

��� μ 
�������
� �� ��� ,7	�
������� ��
����%

���� ��� ��
 1�

����
��� ��� �
�������� '��
������������
��� Ṁ∗
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s2,sim,id

��	�
����	�	 ��	�
 -�
&�%����	����� ��
 '������&
�������� ��� �(��
����	���

�
��		��	�� %
�	������ ��	
�����������	
�� ���� �	�
%�
�



��� �� ���	
��
�����
��������

��
 ��	������ ��
 �� ��� ������������ ��
�������� ���
��

��� μ �� ���

��	�
�������� �
�������� ���
��

���  �
� ���� !�

�"��
 ��
 ���
������
��#

����� �����"��� wrev
x2 ��� ��� $�
����"��%&������ φ ��
�������� '���� ����

����()  �� �� ��������� ��*�� ���"����
�  �
��� +� ���� ���, ��� ��
 $�
����"�#

�%&���� φ ��� -�� ���. �� �� ��� ��� $�
����"��%&������ �� �������������#

���� �����
������� ������������
��� ���
 ��� $�
�/����� ��� ��"���
 ���
����#

��
������� �����"��� wrev
x2 ��� ��"���
 �������������� �����"��� wM 
�
 ����

0�	�
������ ���� "
�������� -�����
��" �����
�����

1.1 1.15 1.2 1.25 1.3 1.35 1.4

0.82

0.84

0.86

0.88

0.9

0.92

0.94

0.96

(wrev
x2 /wM )

φ

Ausgleichsgerade:

φ = −0, 47 · (wrev
x2 /wM ) + 1, 46

��������� ���,1 $�
����"��%&���� φ ��� ������������
��� ���
 ��� $�
�/�����

��� ��"���
 ���
������
������� �����"��� wrev
x2 ��� ��"���
 �������������� ��#

���"��� wM ���� "
�������� -�����
��"�

��
 $�
����"��%&���� φ �
���� ���� ��
�� ��� ��	������ ��
 ��
��������)

��� ��
 ��� ���"
������ $�
������������2 ��
����

���� ���
��

���� μsim,unkor

��� -�� ���3 ����
 ��
 $�
 ������ ��
 ��"���� ��
4���������� �����"��� wrev
x2

��� -�� ���� �� ��� ��	�
�������� �
��������� ���
��

���� μ '�� ���� ����(�

��
 $�
����"��%&���� φ ���� ��� +�	�����
���� ��� ���
������
��� ��
�
���

��� 5�������# ��� ���2��
������ �� ���
������
�� ��������)  �� ���� �
 ���

���� 6��"���� ��
 ��"���� ���
������
������� �����"��� wrev
x2 ��7���
�  �
��

��� $�
����� ��� ���
������
��� ��
�
��� ��
 8������ �
"����� ��� ���

������
��) ���� 5������ ��� ���2��
����� & ������ ������ ��
4������) ��
#



�� ������	
���
�
����	��� ���


����
� ��������� ��� ��	���

�	� μ� �����
 ����	 ��
� ��
�� ��� ����������� 

���	 ��
 �������� wM �� ��
 !������������������ ��
 φ ������
���	�

��
 "�
���	�#�$%���	 �� !��� ��&' ��	 ��
���(���� ������
 ��� ����) ��� ����� 

	�	) ���� ��� �*��
����	���� ��	���

�	� μ �� ���#

����
	�� +�����	�#���#����

�
��
	�������(, ��
���(���� ���
���(	%	 ��
�� ��
 "�
���	�#�$%���	 
�

�� 

��
	 ���� ��	 ��� 
#� 1, 1 ��� 1, 4 ���	�������� ��������������	�
�
�(�	���

(wx2/wM) �� ��	�
 -(��
��� �����
 
#� �����(�
 0, 94 ��� 0, 81) ��� ���� ��. 

��������� ��� �#��	 ��	�
�
�	��
�� �(��	� /�� ����
 %���������� -����*�����#�

�%�� ����� !��	��� ��
 !�	
�����	
#���������������	 ������ ��� "�
���	� ��


-����*�����#� ��� 0
���	
���� %�� /�� %���������
 ��	���

�	� μ �%�� �	�� 

������ +����������	
#� ��� ����	 ��������
 �����������������������	 wM

������ ��� "�
���	� ����
��� ��
 1��������
������ %������� ��� !�	
���� 

��� +����	
#� %��

��� �#���� !�	
�����	
#���������������	 wrev
x2 ��	 �� �#���� ������ ��
 �#�����

�����������������������	 wM ) ���� ��
 !�	
�����	
#� ������ �������	
#�

��� ��� "�
������
 ����	� 0�
 ������ 0��� ��	 ��
 "�
���	�#�$%���	 φ ��	 

��
������ ��
 ��
���� 0, 99) ���� 2�������
�
���	� ��� +	#,
�
���	� �� 3��
 

�������
���	
��� ���� ���� ���	
�	���

��
 "�
���	�#�$%���	 φ �(��	 ���� ��		��� ��
 �� !��� ��&' ����	
������ !�� 

���������
���� ��	 ��������� %��� 4�
���	�
�) ���� ����� !������������		 ���

����� +	���������
���	�
) ��	 �������� ��� �� ��� +�����	�#��
������� ��	� 

�
��
��� ��� "�
���	�#�$%���	�� φ �	
���� ��
�������� �� ��*���� 0, 01 ��

��� !�����������
���� ��� �#���� !�	
�����	
#���������������	 wrev
x2 ��� !���

���5 ��
� ��
�� ��� !�����������
��� ��	 �	�������� "�
�(�	��� (wrev
x2 /wM)

�� �	�� 6 % ��� 20 % �#

����
	�



��� �� ����	
���
�������
����

���� ���� ����� ��� ��� ��� �����
������������ φ ����������� ���	 
�����

��� !���������
���
���� μsim" ��
 ���
#����
 ��
 �������������� ��� ���������$

��� ���	 
����� (μsim,unkor/μsim) ��� ��� %�&������� ��������� ��&���
�����

Δμ = (μsim − μ)/μ  ��� ��� �'������������� ���	 
����� μ ���� �����
�
��

(����������

0 0.05 0.1 0.15 0.2 0.25 0.3 0.35 0.4 0.45

0.05
0.1

0.15
0.2

0.25
0.3

0.35
0.4

0.45

μ
s
im

0 0.05 0.1 0.15 0.2 0.25 0.3 0.35 0.4 0.45

1.5
1.75
2
2.25
2.5
2.75
3
3.25
3.5

(μ
s
im

,u
n
k
o
r
/
μ
s
im

)

0 0.05 0.1 0.15 0.2 0.25 0.3 0.35 0.4 0.45

−30
−20
−10

0
10
20
30
40
50

μ

Δ
μ
/
%

(μsim,unkor /μsim)

μsim

Δμ = −10%

Δμ = 10%

��������� ����) ���	 
����� ��� !��������� μsim *!+���� Δ," ���
#����
 ��


�������������� ��� ������������ ���	 
����� (μsim,unkor/μsim) *!+���� o, ���

�������� ��&���
����� Δμ *!+���� x,  ��� ��� �'������������� ���	 
�����

μ ���� �����
�
�� (����������

��� ���	 
����� ��� ��� ��� ��
�����

������ φ ������������ !��������� μsim

������ ��� �'������������ ���	 
����� μ ��-.�������
 ��� ��� ��
 ���
#����
 ��


�������������� ��� ������������ ���	 
����� (μsim,unkor/μsim) ������ ��
 �� ��$

��� ���	 
����� μ ��� ����	#
� 0, 2 ������� ���
���� ��� ����� /��� ��� 2, 75

��� ����� ���� ��� 
��������� ���	 
����� �������������
 ��	 ��
 �� 3, 25 ���

0�� 
�
�� ���	 
������ ��
��� ��� 1����
�
���� �&�
�
�� ��� ������������

��� ��� �������������� ������ ��
� ��" &�
 ��	 ��� ��� ���	 
����� 
��������

�����
�� 
��������� 2�
��
��� 
��� ��� 1����
�
���� �&�
�
�� ��� ������������

��� �������������� ���	 
����� ��� ����� ���
 ��� �����
�� �������
�



�� ������	
���
�
����	��� ���

��� ������������ ��
 ��

����
	�� ��
�����	�� ��� ����
����	����� ��	���
 


�	� Δμ ������� �
!"	��	���� ��	�
 10 % ��	 ����
 ��		��
��# �
�	���	������

���������� 
�� 7, 8 %� $�� �!��
�� ��	���

�	�� ������� ���� ��� ����� 

������� ��
���%���� �� ��
 &
!"���
����� ��
 ��������������� ��������� 

��� ��"�
���� ��
 �������������� �
����� ���� 
�
 ����� ��
 ��� $�
���� 
��

��	���

�	�� μ ��
����
 ��� 0, 2# �� �� ���� ������ ���
��"�
 ��� ��� '� −23%

��� 33 % ���	� ��� ������������ Δμ ������ '��%���	 �� ��� �	����� ����

�� ��
�
 ��� '���	'	 �����
 ������� (�
 ����� )*�	���	�� ���	 �� �����
 �����

+
��%
����

��� 
�
�������� ��*���������� ��������������� ������ ��
�����	 �����
���

��� ����� # +��
��� ��� ,������
���	��� ������	��	 ��� ���� �� ������	
��� 


�
����	�
 �� $�	
��� ���� �
�	������ &�����
��� �
�������� �
����# &� 

������������	�� ��� �������	
!�� ��	�
 $�
�������	����� ��� -������
�
��� 

	���# ��� ���� ����������
� ��� ��
 +�	�������� ��� ��	
�����	
��� ��� ���

.��	�����
!"�� ��� ��� �
�	������ ��	
�����������	
�� �����
�	� ��� �� 

���� ��"	 
�
 ����� ��� ��
 ������� ��
 �
������������	 '������� ��	
���� 

��� )����	
�� ��
	# �� ��
 )����	
�� ��� )�������������������	 �

����	# �� 

��� ����
 �����
�� ���������

.�
 $�
������� ������ ��������� ��� ������	
���
�
����	�
�����	
��# ���� ��� 

�	�
 /�
������� ��� /�
����������	
�		�0��
�����		# ����� ��� �
�� -���'� 

�	%��� �� (�
� ��� -����
���� ps,i ��� ��
 -���	����
�	�
 Ts,i ��� +�� 

������
!"�� ������� ����� +��� �������� ��������� ��
 �����
�������� ��

��� ��� ��� ��� 1�
����	�����	�" 
�
���	�
��� )�����	���������� �
����	 ��	 

	��� ����� ��*��������� ��	�
�
�	��
��
�� 1�
���	���2'���	�� φ# ��
 ��
�� ����

������������
��� �� ��� ������ ��	��
��
	 ��
��

,� &������	' '� ��
 $�
������� ��
 ��	���

�	� μ ��� �� ����
����	���

��	�
����
	�� ������ 
�� +���� �	 ��� 3����4 ��� )�� ��� +���� 3���54#

��� ��� ��� &���������� 
�� 6����� ��� 7������ 3���84 ��� 6����� �	 ���

3���94 �����
	# ��
� ��� ������� ��� ������� &���� �� ��� �������������� 

��� ��� 
�
��������� ������� ��
 ��
	 
�
�����	# �� ���� ����� ��
�������

:�	�
������� '�� -������ �
������ ,� &������	' '�
 $�
������� ��
 ��	 

���

�	� μ ��� �� ����
����	��� ���	�	'	�� ������ 
�� ;���� �	 ��� 3����4

�����
	 ��� 
�
�������� ��������
��� ����	 ��� ��
 ��� ��
 7������������ ���

<��
�������
���	
���� �� =��
�����		 x 
����	��
����� (�%��� Ax2 ��� &�� ���8#



��� �� ���	
��
�����
��������

��� ��
����� ��
�� ��� ���������
������ ���������� ����� ��
�� ��� �
������

 �!�
�"#	������ ��� $��
������

����
���� �������� ��
�% �����
� ��
 ��


"��
����
������� �� ��� &��������� '�
(������� ��� )�
������� ��
 *�+���

Ax2 ,�
 )��������� ��
  ��
-�

��� 
-�
�� 
-
 ��� ��
��������� "#	�
������

,� ������ 	�!��������� ����
	
����
��
�� "
�������



�� �������	
 ��	 �
������
�������
	�

� �	� ������		�	
������ ���

������� �

�	����
�� 
	�

���������������������� 
��

��������
����	�	�

�	 ���
�	��� �
����� ���� 
������� �	� ��	� !"�����������	
 ��� ��	#����

��� $
�������%���	
 ����� ��	� ��� &�

������ 
	
�������	� �
������
��'

�����
	�

� ���
�	����	� �
#� �����	 #�	����� ��� !"�������
�����#�	
�	

#�� �������	 �%���	
 ��� $
������ �� &	������� 
	 ��� ��	��	���	���� $
'

�������%���	
 ��
������� �	� ��	� �(
����� !��
��
�� #�� )��#�����
���	
 ��'

��������	� ��� ��#����
�� $
�������%���	
 ���� �
�����	� 
�� ��	 �*������	'

�����	 +����	
�	 ��	 &�

������%�����

�	
 �	� �
������
�����������	


��� ��� ����������� ,134
 ������	��� -����#� ���� ��� ������������ �������	


��	 �
������
�������
	�

� �	� ������		�	
������ 	
�� ��	 �	 &����	���

.���. 
��
��%����	 ��������	 �������� �	� �
� ������� ����������	
�����	��
�

�����������

��� �����	
��
�����������

/�� ��� &	
�"�� ���� ���
��
����#�0 �
�� �����	
���� $
������������
����	

�	
���	
�
 ��� /���������	�� ��� +����� #� ��	�� 1��(��	
 ��� +�������'

��	
�
�
�� 
�	��#� �����	 �(		�	� ��� ��� ��� &�

������ 
	
�������	�

���������� �����
	�

� ��#���� �	��� ������ ���
�����#�	
 �	
���	
�
 ��	 ���

��	�����	 ����������	 !��
��
�� #�� &��	��#�	
 ��� �����	
����	 $
������'



��� �� ����	
��
 ��� ����������
��
�	��
�
	 ��� �	���	����
������

�	��	��������	��� ������
	��	��	 ���	� ���� 	��	�������
�
�������	�
� �	��

��  ��	
����!�
	� II �� "��� ��� ��
�	
	�����
 �	� �� ��	���
	� #	��	����� 	�$

%	�
� ����� ���� 	��	 �	��	�	 �!�
��
 �	�  ��	
��� ��&� �	� ����	�����	

	�

 ��	
����!�
��
 �'

�&� ����

��	 ��
�	��
�
	��	���
	� ()��	��������	�%��
	� %�� ����	�
�����
�	�� �	� ���$

%	��� �	��	� ���&� ��	 ��

	��	 *	�	����
 ����	
� �	� ����
	�	�� ��	��	��	�

#	��	�������+	�	�%	� �� �	�

	�&� %� 	��	� ,	�	�	�%�)��	� �	������� "
�

,	�	�	�%�)��	� ���� 	�� ��� 	��	� ����	�$-
)��
$-	���&� ���	��	��	�  ��	$


����!�
�)��	� �	���
	%�
	�� ��� �	� (���� �	� #	&���� ���	����	
	
��

"��� ��� %	�
� ��	 (&��
���
	� 	��	� ��
&�	�  ��	
����!�
�)��	�� .  �/

��� �	� ��	����&� ��
	���	�	�	� ����������
��
�	��
�
	 .#�"/�

��������� 	
�� 
����������� ����� ��������������� ������������������� �������

��� ��� ��������� ������������� ��� ��������!��������� ��������


"��� #������$������ ������� ��� ��������� ��� �������� ΔTLL = (TLL,e −
TLL,a) ����� ��� �������� ��� %!��������� �� �������������� ���&� �����

��� %�����'(�����'&��������
 ��� ��� ��� �������� ������������ %!���'

����� )��� �� #��������� �#&� ����� ���)!����� ��� *������������ ΔTU =

(TU,a − TU,e) �� ��� *������� ���������


"�� ��� ��� ��� %!�������� ��� ��� ����� ������������� ��� �������'



�� �������	
 ��	 �
������
�������
	�

� �	� ������		�	
������ ���

�����
	�

� �����
� ��� �������	
 ��� �
������ ΔTLL �	��� ���	
��� ���

�����������	
 �� ����
����� �� �	� ��� ��

�� ��� !���� 
�� �����" �	�

�	������������	
 
	 ��� #�
���	
 �� ��	��	�
��� �� �

$�� ��	�� %�
�������	
 ��� ��	&���� '����	 ����� !(�
���	
�	 �����	����)

��� ����
����� �� '��� ��	 ��	��	���	����� �
������������ &�� �����	


��� �
������ 
�
�	 ��� #�
���	
 �	 ��	�� �����	 !(����� ���
��(�
���� '��

�	 ���� ��� �
�
�������� ��� ��	 ��� �
������
�������
	�

� &����&��(� &� ��"

&��
�	�� �����������	
 �	� �
��� 
�(� ��� �	������" �	� %�(�����������	


'����	 �
���(� �� 
���	
 '�� �*
��(� 
���
���	� ��� ���� ����������� �
��
	"

�� ���	� ��� �����	�
(���	 ���
���(� ��� +�����
����	 ��� �����	 ��	&��	�	

!,�����- �� �
�� ��	 
���(��	 �
������" ��'�� #�
���	
�����	
�	
�	 TLL,e

�&'� TU,e 
��
�

	
�	 '����	 ����� ��� ��������
���
���� ��� �����	
���	 �
		

�
�
�� 
�
������� '����	�



��� �� �����	
�� 
�� ����������	��	����	��� 
�� ��������
��������

���� ��� ����� ����������� ��� ��������
��� T ��� ������  ����!������"

�������	�
���� #$$� 
�� ���% �
� ���� ��& !��� ��� !����������� ���"

�������  ��������� Q̇norm' ���� ��� ��������
�
��	�
� ��� $���	
�� TLL'

���  �����"(	)��	"(������� TWG 
�� ��� *����
���	
�� TU ��+�� ��� ���"

�����
��� ��� ��	�������	� �� ���������� TV 
�� �� ����������� TK ���

����������� ��	����	����

����	�
�� ���, ��������
��� T ��� $���	
���!�	�)����� #$$�% 
�� ��� ����"

������� ��	����	��� #���% !��� ��� !����������� ����������  ���������

Q̇norm�

-� +��� ����������' ���� �		�  ����!��������� �� (��������� �
���"

�!��� ����� ��� ���!�	
�� ��� $���	
�� ΔTLL ��		 �!� ��� ����	���� �� ������

.���	�
���� �
������ ��������� ����' ��+��	 ��� �
���������������
� ��� $�"

��	
�� TLL,a �� ��� ����������	��	����	��� �� (�������� �
� ���
�������		��

$���	
���!�	�� �
�� �
� ��������
��� 
���� ��� *����
�����������
� TU,e

�����!�	� +����� �����

��� �� $���	
��" 
�� �� /!���!�	�� ��+�� �� ���������� !�����������

 �������0�� Q̇ ���� ���� ���������' +������ ��� �� ����������� �� ���

*����
�� ���
�������  ��������� ��� ����������	��	����	��� 
� ��� ��"

������+��������� ��01�� �	� ���  ��������� �� /!���!�	�� ��� #
�	� (	�

��&&%� 2
� �������� 3�������� ���� �����	� ��� �������	��� !�����������  ��"



�� �������	
 ��	 �
������
�������
	�

� �	� ������		�	
������ ���

�������� Q̇ �	 ���� ��� 
�� ��	 �� ����������	�� �	�
��
��  �����

�	�	

!��������� 	������� 
��
���

�	�

��"� ��� ���#����	
 ��� $�
���	
����� ΔTU ���� �	 �����	 %"�
���	
�	

� � ��	 ���
���"� ���	���"� ���	& #
� �����'����& �
�� ��� (����
���	����� ��

��	��	�
��� ��� 
���"��� (���#�����
�
'���� 
��
��	� ��� 
��)���	 
�'�� �*

��	��	 !������	
� �� ���
���"� '�� + "�� ���� 
��)�� ���	 �����

,�	� ��
��"�� $	���� ���	
 ���� -������'�	
 ��� ������������ �	 ����
�����

���� ��	��	�
��� ��� �����
	�

� �����	 ���	
"������
� #����	� ��� !������	

#��� ���
��
����'�& �
�� ��� !���� �����

��.�"��	 ��� ��	  �����

�	�	

!����������	 ��
����� #����	� $	��� �����	 �		
���	 ����� ��"� ��� 
�� ��	

������	��	 /�����
�����0���	'�	 �
�����	��& 
�
����"�� 1�
�	 ���������	


��� !���� �����

���"�
���	
�	 ������� ���� ��� 
	������	�

2����� #��� �
� ��	��	���	���� %3���� ����
"����� ,� #��� ���
��
����'�&

�
�� ��� !�����
�
'���������� ��� !
����*1�3���*1����"�� ĊWG 
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ṀLL� �
� ���������� /�����������	�� COPth ��	 0, 08 ��� 0, 12 ��� ����

�-�����	 '	����������� ps2 
��
��	� ��� 
���	
���	 ����
����	
�������
��*

��	 �� ���
����� ��� ��� 1���	�	
 ��� ��� ��	 ��� )�
���	
�������
���


���	
�
�	 �
��������	������������
��� 
�� '��� ��, �����������

&�� ��	��	��� '	����������� 	����	 ��� �	 ��	 ����������	�	 ����������	�*

��	 ��#��
��	 �����������	
�	 Q̇0  1 → 4! ��� 
�
���	�� �
�������
���	�����

ṀLL  ��	�� a" b �	� c! �� 2�
�	�
�# #�� ������	�	
 
�� '��� ��, #�" �� �
��

��� �
��������	������������
��� ��	 30 ◦C ������� 
�
��%��� $���� ��� ������*

�� '��%���	
 ��� �-
����" $��� ��� ��
�������
��	 ����
����	
�������
����	

ϑV ��� ��	 
���	
���	 '	��������%���	 ps2 �	� 
������� �����������	
 Q̇0 ���*


������$���� 
���	
�� ��	�� ��� ��#��
�� 0�����
������ ΔTHub ��	�� ��� 
�*

	����	��� '	����������� ps2 �	� �
��� ��	��	��� ��	��	�
���	�������
���

ϑkrit
K $�� �	 '��� ��," $��$�
�	 �
� ���������� /�����������	�� COPth ����
��

��� 
���	
��� �
������
��������������
��� 
�� ��� ����
����� $��� $�� ���

��� ������	�	
 
�� '��� ��, ���� 
���	
���	 �
�������
���	����� ṀLL �	�


���	
���� '	����������� ps1 ���������

)	��� ��� '		
��� ��	�� ��	��
	��	 �
��������	������������
��� ��	 30 ◦C

$����	 ��	 ��� �
������
�������
	�

� �%� ��� 
�
���	�	 1
	�����	
�	
�	

�����������	
�	 Q̇0 #$�����	 2, 2 kW ��� 3, 8 kW ��#��
�" $������ ��� �
��*

����������
����	 ��� &������	�
�� �� 24 K ��� 33 K ��� 
�� 0�����
����	

#$�����	 6 ◦C �	� −3 ◦C 
�
���	�� $����	� �
��� ��	� ��� ��#��
��	 �����*



��� �� ����	
��
 ��� ����������
��
�	��
�
	 ��� �	���	����
������


	�����
	� Q̇0 �� �	�

	��� ��� �	�	�����
 � � ��	 ��� �	� !�
	���
��	�"

�	����� �����
�
	 #��	
���	���������	��	����� �����
��
�
 
	���
	�$ %	�
 ��	

#��	
���	���������	��	�����	� �� ��	�	� &�

 ���	� 
�'(	� �
� ��	 ��������	

#��	
���	���������	��	����� ��� 30 ◦C ����� ��	 #��	
��� %��� �� �	�

	���

)	���� ���
���� �	� 
	���
	�	� �	��������
��	��	�����	� ϑV ���	� �����	�

��
	� �
�� ��	 	�����	��	��	� *���	�	���
�����	 COPth �	%	
	� ���� �%�"

���	� 0, 08 ��� 0, 23 ��� ���� ����� ���
	���� ���
	���	� �
� �� +��� ��,$ %	�


��	 ��� �	� ��
�	��
�
	 	��	�
�	� �	��������
��	��	�����	� ϑV 
	���
	�

����� ��� +��	����	
� �	� ����������
��
�	��
�
	 ��� �	� 

��� �	� 	��	�
�	�

��
�	
	�����
	� Q̇0 ��� �	� 	���	
�	� #��	
����	��	�����	� ϑLL,a ���
	����

	�
	� �
� �� +��� ��, ��� 	����	��� ���� �� 	�%�� ���
	���	�	� ��	������	�

*���	�	���
�����	� COPth %	��	� ���� 
�����

-� +��� ��. ���� �	� ��
	�'��
	 �/����
����	 COPh ��� ��� ��	������	

*���	�	���
���� COPth �
� &������� ��� +����	������� ps2 ��� �	� #��	"


�������	������ ṀLL ���
	���
	�$ %��	� ��	 !�
	���
��	��	����� ϑU,e ���

�	� +����	������� ps2 �����	���

0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2 0.22 0.24
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COPth

C
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h

ϑLL,e = 30◦C
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3

4

1

c

b

+���
���
 ��.0 1/����
����	 COPh  �	� �	� ��	������	� *���	�	���
����

COPth � � 	��	 ��������	 #��	
���	���������	��	����� ��� 30 ◦C 23����	�	�

4ps2$ϑU,e50 16 443bar$ 25
◦C5$ 26 438bar$ 20 ◦C5$ 36 433bar$ 14 ◦C5$ 46 428bar$ 9 ◦C57

3����	�	� ṀLL0 a6 300 kg/h$ b6 400 kg/h$ c6 500 kg/h8�



�� �������	
 ��	 �
������
�������
	�

� �	� ������		�	
������ ���

��� ����
������� COPh �������� ��
���
���  �� ��� ��� !�����	�	
 ��� ��	

��	 ��� "�
���	
�������
��� 
���	
�
�	 #
��������	������������
����	$  ��

��� ���
����� ��	 %��� ��� ��� %��� ��� &��
�� �
� %���������� ��� �
������
��'

�����
	�

� ��� ��&(
���� ��� ����
�������	 COPh �	
�� 
�� �	 %��� ��� �	�

��������� ���� &� �� 
� �����������	 ����������	 )�����������	����	 COPth

 ����� 	
�� ��	��� ��� ����
������� COPh ���
� �	 ��� !���
����	
 & �����	 6, 5

�	� 27 �	� �
��� �����
�	
�
 ���������� 
�� �	 %��� ���$  ��� ��� �	 ��	 ���'

�������	�	 !���������	���	 ��	��
	��� %	�������	��
�� ��� ����������������

��&��
��	 �����������	
�	 �����
�	
�
 
���	
�� ��	��

��� �����	
�����
��

#
������������
����	 ��� *������	�
�� ϑLL,a �� !������ ��	 0 ◦C ��� 10 ◦C$

��� ��� ��� ����� �
� %�

� 
	
�������	�	 �
������
�������
	�

� �	��� ��	


�	
		��	 !���	
�	
�	 
��	����&���� ��&����  ����	 �+		�	$ �(���	 ��� ,���'

������	 ����� ��	� -�(����������	
 ��� .(	�&�����	��� &��
���	 ��� ��	��

/������
��

���	
 �	��
	
 ��� �����' �	� .���	��������
��	&� &�� 0���
�'

��	
 ��� *���� ����	
�
�
�� ��	 ��� &� 18 % 1�
��	��$ .�
�	�

�	$ �	�

0������$ �2�34 �
��	�� �	� .�
�	�

�	$ �2�5
$�6� .�� !� ����	
 ��� 0��'

���� �(���	 
������	
� 
��� ��� �	 %����	��� ����� �����������	 ��������	 ��'

�(��������
�  ����	$ ��� ��	 ��������
��	 )����	
�
�
�������� 
�
���	�	�
���

�����	
��	� ��� ��	��������� ������ ��������	 �	 ��	 �
�����	 &�� %�

� ����'

(�����

�	
 5$ &�� �
������
�����������	
 3 �	� &�� �������	
 ��
��������	

 ���	������	 %������ �����	 �� -��
�	��	 	����
�� &��
���	�
���	� �	� ��

���
����� ��� 
����	
����	 %�

� ����	��&�	
���	&����	 ����������  ����	�

����������	
�� �
� ���������	
�� ���	��
�	��
���


��� &����&����� *
��� ��� �
������
�������
	�

� �� -
��&��
 ����	
� ��	�	

*��������
��� 
	 ��
�����7$ ��� ����� ��� 
�
�����������	 #�����	
�������	

��� %�

� ����(�����

��' �	� �
������
��������������������� �� �� ���

 ������	 �����	�	��	 
��� 
�
������&�  ����

��� �	 %����	��� 3�� �	��������� �
������
��������������������  ��
� ��	�

*
8	
���	 &�� /� ���������&����	
 �� 
 4 kg$  
� ��� ��	 �	 ��� �����'

��	
 &� ��&��
�	��	 �����������	
�	 ��	 2, 3 kW ��� 5, 2 kW 
�
�����������	



��� �� ����	
��
 ��� ����������
��
�	��
�
	 ��� �	���	����
������

�	�����
������	� ��� 0, 58kWKälte/kg �� � 1, 30kWKälte/kg 	���������� ��	 ��!

"���
 	���	
���	 
�����	������	 #���	��
	�����
������	  ��� �
�� �����������
���

����� ����� �	� ����������
�	������	� �	
�	���$ ����	�� %�	� ��	 �	�&��
�	�

'���	%�	����
	�(���	� �	��
	
	
��

)�� 	��	� ��
��	� �	� ����������
�	������	�� ��� 0, 62 dm3 ��� ��	 ���!


���� �	� �	
�	���	� *�������  �����
	$ ��
��	������	 �	�����
������	 ���

3, 71 kWKälte/dm
3 �� � 8, 39 kWKälte/dm

3 �����

�	� �� +�������� ,�� ���	������	 +�
�� ���	%�	����
	�������-�  �	
� ��
	!

���� 7kg$  �� �	� �	� �� �	� ����	
��
 �	�&��
�	� ��� ���� �	�
���	����	� +�!

���	�� ���	���&�	� � ����	� 16 kW ��� 26, 5 kW 
�����	������	� �	�����
�!

�����	� ��� 2, 29 kWAntrieb/kg �� � 3, 79 kWAntrieb/kg 	���������� ��� .	 ����

���� ����� ��	 �	����
	���
 �	� %�	����	������	��	� ��
�	����	
���� ���!

�����	 ���� �	����	��  	��	�� ��	 
�����	������	� �	�����
������	� ��� �	�

����
	� �
�����
�
	� 	��
	�	���	� �	������	�� �%� /134� �	
���	� ���� ���

5, 88 kWKälte/kg ��� �	� ����	������	� ��� 5, 88 kWRückkühlung/kg� �	�����!

�	� ��� ����	������ �	� ��
�	��
�
	  	��	� �����������
��� �	� �	� �� �	�

����	
��
 ��"���
 �&��
	� ��
�	
	�����
 ��� 5, 2 kW ��� 	��	� ��"���
	�

/%���%�
 ���	����� ��� 35 kW �&����	�� 900 g �� � 5 kg  �	
	���

��	 ��
��	������	 �	�����
������	 �	� ���	������	� +�
�� ���	%�	����
	�!

������-�� ��� 	��	� ��
��	� ��� 3, 2 dm3 
�	
� �	� 5 kWAntrieb/dm
3 �� �

8, 3 kWAntrieb/dm
3 ��� ����� �� �	� .�&0	�������
 ��� �	������	�� ���

����	������	� ����
	� �
�����
�
	��

��	  	�	��
���	� ������	��	� �	� ����������
��
�	��
�
	 ��� +��� ���$ ����

+�
�� ���	%�	����
	�$ �	������	� ��� ����	������ �� �	 �	� ����������
!

�	������	� �	
���$  	��	� �%� ��	 �������	��	 ����	
��
 �
�� ����� �	�� �
�

20 kg  �	
	�� �	�����	
� ���� ��� +�
�
	�
	 ���� ����� ��	 ������
��� �	�&!

��
�	 #���	$ ��� 1"���������	���
 ��� /���
	����
	� ��� 40 kg$ 	����%��	�

��������2�	���	�������	 ��� 0, 028 L/100km �%� 	��	 ������������� �� �	

0, 048 L/100km �� 3145 6�

� +�������� �����7�

��	 �� �	�

	��� ��� �
�	������	� ��	������	� ��
�	�	�����	� 6�

� +�!

������� ���7 ���	 
�����	������	 ��� ��
��	������	 �	�����
������	 �	� �����!

���� �������	
��
�����
 ��� ��
� 30kW ������ ���� ��� ����
 ������������� ��� 43bar

��� ����� ��	��	������� ��� 2, 2 kW ��� ����
 ����
������ ���
������	���� ��� ��������

0, 08 ���	� ���� ��� �
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�
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��	� ���
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���	 4�	�$�$�$��� "$� $	 ��� �������	
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�����

ΔTTKA,2 �	� 
� ��	��	�
��� ΔTTKA,1 ��	 5K �$	� 
�7����� ��#� �	� �)	'

	�	 �	�����#��	� ��� 4�
	�� ��� 3�#�	$� 	�#� �����$��� "����	� "
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��� 
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�	����	� (��"����	
 ��� 6�'


���	
����� 
� ��	��	�
��� ΔTU ��	 10 K $�� �2� �$� 
�)7��	 ����#�	���	

82#��2��"�������)�� ��	 2��� 30 kW �
�� ��
�$�$���
�� "�$� ��$ �$	�� ���'

�$:�#��	 0�����
�
�$��� ��� 6�
���	
����� cp,U ��	 1 kJ/kgK �$	 �2������'

�
���	����� 
� ��	��	�
��� ��	 2��� 3 kg/s ��� 82#��2���	
 	)�$
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��0 ���	������� �������
 ��� � %��!

�� ���� ������ ����	�
���� 1�
��
��"
 *+�23�0	0 +��3- ������	��
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�� ��� �
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�� �������
 ��� � %���� ���� ������0 ��� �� �
� ��!

���� �
���
 ���0 ������������ �������
����4�� 	��� "�
 ��

�� ��� ������	 
�

�	���


"�
� (�� ��� %�5�����!6��� Re $�
� ��� ���
����� *Re < 2300-0 ���!

	������� *Re > 104- ���
� ��� �������
 
� 7	��
��
�	���
 � *2300 < Re <

104- ������ ��
����

)�� �
� ��� ������	��
��
�
��
 ���
�� 	��� ����� ������	��
��
�"��#!

$
��� αi �
�� �������� ��� ��"���� ������	��
��
�"��#$
��� αx ��� ��� 8��!

�����
� ��� ��"���� ���������������
 ��� q̇W (x) $�� ��"���� ���
	����� .��!

��������
9����$ ΔT (x) ��� �		� ��3 ���� ��� �	�� �
� ������	�����
��:� ��


���
�
����� ������	��
��
�"��#$
��� αm = 1/L · ∫ x

0
α(x) · dx ��4�
����
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���; ��� �	���


"�
� (�� ��� ����!



��� �� ���	
��
�
��
 �
� �
� 
�������

� ����	��


	��
� �
� �
�	
���
 ��� �
� �����
�

�������
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#�����$ Re ��� �
� %������$&��� Pr �� ���	 
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� %��
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� �
$

�
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���$ ��� *
	�
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������� .�� "���$ �')� +���������	
��
� '�� 0��1��

 (d/x)� )�� 	���
��


��
� +���
 ����� ���� KL,i �� �
� %��
�'
�
�����

� �
��� ������
� )����

(�
 2���
��$&��� �
� ��	����
� -
�
���� 3Re < 23004 �
�
���
� ���� )�
 ���
�

3.
�� /(5� ���647

Nulam,i = [3, 663 + 0, 73 + (Nulam,1,i − 0, 7)3 +Nu3
lam,2,i]

1/3 3��84

(
� 5��
9 i  
��'
����
�� �� 
� ���� �	 ��
 �� ��
 ��
� ��
 	����
�
 2���
��$

&��� Nulam,x ��
� Nulam,m ����
��� (�
 �
��
� 2���
��$&���
� Nulam,1,i ���

Nulam,2,i �
�
���
� ���� ���7

Nulam,1,i = 1, 615 ·Re1/3 ·Pr1/3 ·KL,i,

	�� Re =
wm · d
ν

, 3���4

Pr =
η · cp
λ

, 3��:4

KL,x = 2/3 · (d/x)1/3 �')� KL,m = (d/L)1/3

Nulam,2,i =

(
2

1 + 22 ·Pr

)1/6

·Re1/2 ·Pr1/2 ·KL,i,

	�� KL,x = 1/2 · (d/x)1/2 �')� KL,m = (d/L)1/2

KL,x ��� KL,m �
'
����
� ��
 ;
)
���

� +���
 ����� ���
� �
� "������
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� Nux ��� Num�

(�
 2���
��$&��� �
� ������
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� -
�
���� Nuturb 3Re > 1044 �
�
���
� ����

�� �����
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�� .�	 (��� .
������
�)
�� ξ� �
� "
#�����$ ��� �
� %������$

&��� ��)�
 �
� /
���������
� (d/L) �')� (d/x) ���� ���

��
� ��
�����
 3���
�$

��� �� 8<=6�47
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Nuturb,i =
(ξ/8) ·Re ·Pr

1 + 12, 7 ·√ξ/8 · (Pr2/3 − 1)
·KL,i �����

�
� KL,m =

[
1 +

(
d

L

)2/3]

	��� KL,x =

[
1 +

1

3
·
(
d

x

)2/3]
,

ξ = (1, 8 · log10(Re)− 1, 5)−2 �����

��� �	

� ��� !"��#���	�
���� ξ #�
��� �
 � ��� ��� ���	�#����� �������


��� � 
#���� $��
������ �	�

�
� %����#�&'��# ��� (	��
��
�	���
 �� Nuüber �2300 ≤ Re ≤ 104� 	��� ����

�
 � �� � ��� )������#��
���
#�
 ���
 "�� *�
�#
��!
 ��++��,

Nuüber,i = (1− γ) ·Nulam,i + γ ·Nuturb,i ���-�

γ =
Re− 2300

104 − 2300
���.�

��� )�����
�����/�!��� γ 	�� ���
	� �
� ������� ���	�#���� γ = 1 ��� �
�

������� #��
���� �������
 γ = 0�

��� #�!�#� 	��� �
��#��� ������	��
��
�!��0�
��� αx 	��� αm ��� 1���
#

��

�������
�	���
 �� 	��� ���� �
 � �
� /�#
�,

αi =
Nulam/turb/über,i ·λ

d
���2�

)� *#� ��2 �
�� �
� ������� ������ %����#�&'��#�� �� � *#� ���3 ��� 	���

��- �
�����������

��� �����	
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�� ���� �
���������
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�� �	� �����	��	� �������	�� �	��	�� �� �	� �����	��

�	� 	��	�  �	� 
��	������	� �����
��	�� ��	��� ��	 !�����	�"��������	�� �	��

�����	� ����"�	� �	� ����	� �� #	���	�"� �� 	��	�  �	� 
��	������	� 	���

�	��	� ���� 
�$ �
� �� 	��	� 	�����	� ����	
�	��
�� %
���� &�	 ���������

�	��	�	� ����	 �� �����������"����� ����	�	��
��	� �	����� 	��	 ��������

�	� ��������$ �
� �	� ����	
�	��
�� ��������"� �		��'����� �� ���� ��(

��� ��	 )	��	���	 	��	�  �	� 
��	������	�$ '�"��	��	� �����
��	�� �� �	�

��%��"�� �"�	�
���"� �
��	��	����

��������� ��(* )	��	���	 	��	�  �	� 
��	������	�$ '�"��	��	� �����
��	��

�� �	� ��%��"���

+�� ,	�	"����� �	� 
��
��	����	� ����	
�	��
��� 
�  �	� 
��	������	�

�����
��	�� ���� 
�� "�
�
��	������"�	 -���	 ��	 ���	�
���	 .�	����������	

L3 /	��	��	�� ��	 ���� 
�� #	�������� 
�� �	� 
� ����
��"� �	�	�����	� �����

'�"�	 A = (π · dAb ·Lq) ��� �	� ���0���	��	� ������%
�� Uproj = (2 ·Lq) �	�

����	� 1/��� /�� ,�"�� ��� �	��	�$ �2((3� &�	 .�	����������	 L3 = (π/2 · dAb)

��� ��	 ���	"�	$ ��	 	�� !�����	��"�	� 	���
�� �	� �	�
��	� 
�	���
�	��	� 4�	��

'�"�	 �	�  �	� 
��	������	� 5���	�� ���
"��	��� &	� �	��	�	� �		��'���	� ��	

6	������/	���������	 �	� ,
��	��$ ���� �
� -�����	������/	�������� L1 
�� #	��

������� �	� ����
���
��� �� �����������"����� ��� ����
�7	����"��	��	�

dAb ��	� �
� 8�	��	������/	�������� L2 
�� #	�������� �	� ����
���
���  �	�

��� �����������"����� L2 ��� ����
�7	����"��	��	� dAb$ ��	 �� !���	��	�

��"� 	�����	�� �	� 
��
��	����	� ����	
�	��
�� �	�  �	� 
��	������	� ,
��

�	���

)��	������ 1(9:;3 	�
��	��	�	 ����	
�	��
�����	�"����	� 
�  �	� 
��	������
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����� ����
���

NuL3,lam,m $Re < 2300% ������&

NuL3,lam,m = 0, 664 ·Re
1/2
L3,Ψ

·Pr1/3 $��'%

�
� ReL3,Ψ =
wm ·L3

Ψ · ν , $��()%

L3 =
π

2
· dAb

 
� ��*�����"#��� ReL3,Ψ +
�� �
����� ��� ,	����������
� L3 ��� ������"

���
��
���� -��
� 
�	
�����  
� �
������ .����+
��

��
� wm ��� �
����
 ���

��*�����"#��� ReL3,Ψ +
�� �
� ��� /�����������
� Ψ ����


���0 �� �
� 1�"

�����
 ��� �������
�
����+
��

��
� �	��	
�����  �� /�����������
� 
�� ���

2�������
� ��� 3�� �
� �������
 3��
�� 2������� �+
����� ��� ������ Vfrei

��� ��� .�����4������ Vges ��� 	�������� �
�� 	�
 5��������� ������ 
�

�	���


��
� 4�� -��
���
���
�4�������
� ��� ����� (L1/dAb) +
� 3��
�&

Ψ =
Vfrei

Vges

=
L1 · dAb − π/4 · d2Ab

L1 · dAb

= 1− π · dAb

4 ·L1

$��((%

 
� �
������ !������"#��� ��� ���	������� ����
��� NuL3,turb,m $Re > 104%

	�������� �
�� 
� �	���


��
� 4�� ��� ��*�����" ��� ��� 6������"#��� ����

3��
����� .��
����
&

NuL3,turb,m =
0, 037 ·Re0,8L3

·Pr

1 + 2, 443 ·Re−0,1
L3

· (Pr2/3 − 1)
$��(�%

���� 	�
 �������� ��
�	����� 7��
� ��
�� 	�
 �
��� ���
�
����
������

����
���� 8�����0 ��� �
�� ��� �������� ��
�	����� 7��
� ��������
���
���

9��������� 	��
���0 ��3
���� ������
���� 8��4���
�� �
� ���������� ��3�

 ���� �:
��
��� �
�� !������"#��� NuL3 	�
 �������� 7��
�0 �
� 	�
� #*�
����

0, 3 	����
�� /
���
� ��

	� �
�� �
�� �
�� ��� ���� NuL3 = 0, 3 ��*�����
���

�������� ���
��
���3����
��&

NuL3,m = (NuL3 +
√
Nu2

L3,lam,m +Nu2
L3,turb,m

) ·KA $��(�%
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�	�� �����	��	� �����
��	� ���� ��� �� ! ��� �	� ����
���������"
#$

��� KA #������	��% �	� ���� ��� �	� ����
�� �	� ����	 �����$ ��� &�	� '��

����������������� L1 ��� L2 ��	 "���� �	�	���	�(

KA = 1 +
0, 7

Ψ1,5
· (L2/L1 − 0, 3)

(L2/L1 + 0, 7)2
)�� �*

��� �� ! �	���'� �	� �
����#	����	�	��� 10 ≤ ReL3 ≤ 107 ��� 0, 6 ≤ Pr ≤
1000�

+	� �����	�	 ����	
�	��
���#�	,'�	�� αm &�	� 
��	������	� �����
��	�

�	�	���	� ���� ��	 "����(

αm =
NuL3,m ·λ

L3

)�� -*

+�	 .���	��$/
�� NuL3,m ���� ��	 ��	 �	0�����$/
�� ReL3,Ψ ����	�� �	�

1�	����������	 L3 
�� ��
�
#�	��������	 2���	 �	����	��
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����
�
��
 �	� 	��
�����
 $����
���
����
� ��� �����

����� 	
 ��
���
 !���
����	
��
 %����
�
	��� ���	� �	� &��
��
�'�
��$����

��(	���
� �������	����

��� �����	
������
������ 
�� ���������

)	
� &�
����
������	
��
� ��� *������+
��	, �	� �	� )
����	� s �	� )
��

����	� h �
� ��
 -��
, p �	
�� .+����� �	��	
�
��� !��,
���� ������/

T · ds = dh− v · dp 0��12

-	� )
�����	��
����
� ��� ��������� ,�

 ���
� �	� *��������� T  ��


-��
, p �
� ��� ���(	3�
�� 4�����
 v �	� ����� ��������
,� �����
 0�� �	�� 

15562/

dh = cp · dT +

[
v − T ·

(
∂v

∂T

)
p

]
· dp 0���2

-�� (��	�� *��� ��� ��� ��
���
 .�	�� #��
���	#� ��
 ����
�

��
 7�����
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��������������� ��� ��� ����	
����  �
!�		�� "	� ��# 	���� ��
� ��� "	� ���

�
������� �	�$

ds = cp · dT
T

−
(
∂v

∂T

)
p

· dp %��&'

(�� ��� "	� ��& ��
��� ��
�$

(
∂s

∂T

)
p

=
cp
T

%���'

)�� *������
 ��� �+�,�-�
��� .�	����� ��� ��� ���+������ ��� "	� ��&

��� ��� �������� �	�������� )��
� %�� ����� #//�'$

(
∂v

∂T

)
p

=
ZN ·R

p
·
[
∂(K ·T )

∂T

]
p

=
ZN ·R

p
·
[
K + T · ∂K

∂T

]
p

=
K ·ZN ·R

p
·
[
1 +

(
∂K/K

∂T/T

)
p

]

=
K ·ZN ·R

p
· (1 +KT ) %��0'

(���� .�� �����
 1�� "	� ��0  ��� "	� ��&  ����� ��
�!���� ,�$

ds = cp · dT
T

−K ·ZN ·R · (1 +KT ) · dp
p

%���'

)�� �����+���������
 ��� ���	
���� ��� ��� �������
�
�� .�����	�� ����

+������ T ��� �+�,�-�
��� .�	���� v ��
��� ��
� ��� ��� , ����� 2��+����,

��� �������3����� T · ds = du+ p · dv ��� 	����� %�� ����� #//�'$

ds = cv · dT
T

+

(
∂u

∂v

)
T

· dv %��4'

5�� "	� ��4 ��
��� ��
�$

(
∂s

∂T

)
v

=
cv
T

%��6'

���� ������	
����
������ ����
����� ��
�
 �
���������
�
 �����
�� ��� ��� ������
�

����
��
 �
 ����
 ��� ��
���
� ������
��� �
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��� ������ �	����
�	�� ��� ��
��	�
 ��� �
����	� 	
 ����
�	���	� ��
 ��� 

!	"�
��# $���#�
 �
� %�#������� s = s(v, T ) &	�� �
��� $��&�
��
� ��


'�� ��( �
� ��� )�*&��� ��!	���
� (∂s/∂v)T = (∂p/∂T )v �#��+��#� !�,

ds =

(
∂p

∂T

)
v

· dv + cv
T

· dT -��./

��� ��# 0�������! +1� 	#��	!	�� ��
��	�
�
 ���	�� �	
� ��� 2���##�
��
�

-�� )��!	��� �
� 3	���4 �55�/,

(
∂v

∂p

)
T

·
(
∂T

∂v

)
p

·
(

∂p

∂T

)
v

= −1 -��65/
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� ��� ���!	"�
��
 $���#�
� #	� ��# ���
� 	�� ��	 ��
���
�

���	��
��� %�#������� -�� �	��4 6..8/,

(
∂v

∂p

)
T

= ZN ·R ·T ·
[
K · ∂(1/p)

∂p
+

1

p
· ∂K
∂p

]
T

= −K ·ZN ·R ·T
p2

·
[
1−

(
∂K/K

∂p/p

)
T

]

= −v

p
· (1−Kp) -��66/

������ ��&	� ��� '�� ��9 ���	�� �	
� �	� 7
����
� ��� ���
�� #	� ���

%�#������� ��	 ��
���
� ���	��
��# ���!	"�
��
 $���#�
 !�,

(
∂p

∂T

)
v

= −(∂v/∂T )p
(∂v/∂p)T

=
K ·ZN ·R

v
· (1 +KT )

(1−Kp)
-��6�/

:
��� $��&�
��
� ��
 '�� ��6� &	�� '�� ��. &�	��� �#��+��#� !�,

ds = K ·ZN ·R · (1 +KT )

(1−Kp)
· dv
v

+ cv · dT
T

-��6;/
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��	�
 ��� �
����	� 	
 ����
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�

�
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��# $���#�
 s = s(p, v) &	�� �
��� $��&�
��
� ��� ��	��
 )�* 

&��� ��!	���
��
 (∂s/∂p)v = −(∂v/∂T )s �
� (∂s/∂v)p = (∂p/∂T )s �#�� 

�
��	���
 !�,

ds = −
(
∂v

∂T

)
s

· dp+
(

∂p

∂T

)
s

· dv -��6�/
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��� ����	� ����������	 ��� �������� ��� �������� �� �����
�
���� ��� ���
�

���  �!������� s = s(p, T ) 	�����"

ds =

(
∂s

∂p

)
T

· dp+
(

∂s

∂T

)
p

· dT = 0 #��$%&

������ ��
��� ��
�"

(
∂p

∂T

)
s

= −
(

∂s

∂T

)
p

/(
∂s

∂p

)
T

#��$'&

(���� )��*�����
 ��� +���!!�����
� (∂s/∂T )p = cp/T ��� ,	� ��� ���

��� -�.*�		/��0�����
 (∂s/∂p)T = −(∂v/∂T )p 	���� ��
� ��� ��������� +�/

�������������
 �� �����
�
���� ��� ���
� ���  �!������� �!�
������� 0�"

(
∂p

∂T

)
s

=
cp
T

·
(
∂T

∂v

)
p

#��$1&

��� ����	� ����������	 ��� �������� ��� �������� �� �����
�
���� ��� ���/

0�2�
��! )�	�!�� ���  �!������� s = s(v, T ) *��� ����� )��*�����
 ���

+���!!�����
� (∂s/∂T )v = (cv/T ) ��� ��� -�.*�		/��0�����
 (∂s/∂v)T =

(∂p/∂T )v �!
�3��!� 0�"

ds =

(
∂s

∂v

)
T

· dv +
(

∂s

∂T

)
v

· dT = 0

(
∂v

∂T

)
s

= −
(

∂s

∂T

)
v

/(
∂s

∂v

)
T(

∂T

∂v

)
s

= −T

cv
·
(

∂p

∂T

)
v

#��$�&

(���� )��*�����
 ��� ,	� ��$1 ��� ��$� 	���� ��
� ,	� ��$� !�� ��� +�/

������
	��
���
 ��� ���	
���� ���1 *����� �!3��!�� 0�"

ds =
cv
T

·
(
∂T

∂p

)
v

· dp+ cp
T

·
(
∂T

∂v

)
p

· dv

ds = cv · (1−Kp)

(1 +KT )
· dp
p

+ cp · 1

(1 +KT )
· dv
v

#��$4&
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 ���

��� ���
�����
����
�
� ��� ��������� κ 	�� ���
	��� ����

κ :=

(
∂p/p

∂v/v

)
s

������

�� !� ���	"� �	
� #	� ds = 0 ��� $�� ��%��

κ =
1/(1 +KT )

(1−Kp)/(1 +KT )
· cp
cv

=
cp/cv

(1−Kp)
����%�

��� &���
�
� ��� 	��
�����
 '����
���
����
� ��� ���������� ���	"� �	
�

��#�( $�� ���% #	� Kp = 0 "�)�

���*�	�� +� κid = (cp/cv)�

,
���� ����"�
 �	
� ��� $�� ��- �
� $�� ��%. �	� &���
�
��
 ��� 	��
�����


'����
���
����
��
 ��� /�#������� #	� ��# ���
) κTp �
� ��� /�#�������

#	� ��# ���+	��
��
 0���#�
 κTv +��

κTp :=

(
∂T/T

∂p/p

)
s

=
K ·ZN ·R · (1 +KT )

cp
������

κTv :=

(
∂T/T

∂v/v

)
s

=
κ ·ZN ·R · (1 +KT )

cv · (1−Kp)
����.�

�	�� �%��-� �	"� �	� 	��"��� �
� �	� 	��
���� ���+	��
�� 1��#�)���+	��� cp

�
� cv ��� 2�
)�	�
 ��� ���
�����
����
�
��
 κ3 ��� 4�#�����	"	�	����+��� K

�
� ����
 ,"��	��
��
 �
�

cp =
κ

κ · (1−Kp)− 1
·K ·ZN ·R · (1 +KT )

2 ������

cv =
1

κ · (1−Kp)− 1
·K ·ZN ·R · (1 +KT )

2

(1−Kp)
����5�

6
��� 0��*�
��
� ��� $�� ���� �
� ���5 �����
 �	
� $�� ���� �
� ���.

�# ��#�
 +��

κTp =
κ · (1−Kp)− 1

κ · (1 +KT )
����-�

κTv =
κ · (1−Kp)− 1

(1 +KT )
����7�

�	� &���
�
��
 ��� 	��
�����
 '����
���
����
��
 ��� ���������� ����"�


�	
� ��#�( $�� ���- �
� $�� ���7 #	� Kp = 0 �
� KT = 0 "�)�

���*�	�� +�
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κTp,id = (κid − 1)/κid ��� κTv,id = (κid − 1)�

��� ���	
���� ���� �	�� �� ��
� 
����	��� ���� ��� ��������
����� p� T

��� v ��� ��� ����
����
 ��� ������� �� ���������������
 !���
��� ��� ����

"������ ���# ������� κ ��� $	� ���%� κTp ��� $	� ���& ��� κTv ��� $	� ���'

������
������ �������

��� �����	
��
��
�����
����
�
��


(�� ������� � ���������������
 ��� ����	�� $���� 	���� ��
� ����� )��������


��� (��
*� p ��� ��� � �!�+�
��� )�	����� v �����,
*�� ���
�-

dp

p
+ κ · dv

v
= 0 .���/0(

∂p

∂v

)
s,id

= −κ · p
v

.���10

(�� ������� � ���������������
 ��� ���	�� $���� 	���� ��
� �
������� �	�-

cv · (1−Kp) · dp
p

+ cp · dv
v

= 0 .��2�0(
∂p

∂v

)
s

= − cp
cv · (1−Kp)

· p
v

.��2%0

3� ��� ������� � 4������
 ��� ���	
���� ���
� ��� ���� ��
������ �����5

������
 ��� "���	
���� ��!���	���� ���� ��� �������
�������� ���# ����� κ̃

��� 6�� 7��������� ��� 7�*������ .%1/�0 ���
�8,��� ��� �� ���� 
�	���-

(
∂p

∂v

)
s,id

=

(
∂p

∂v

)
s

.��2�0

κ̃ · p
v

=
cp

cv · (1−Kp)
· p
v

.��220
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�
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��
��
 �
� ������
��
 ���

(1− κ) · dp
p

+ κ · dT
T

= 0 ������(
∂p

∂T

)
s,id

=
κ

κ− 1
· p
T

������

dT

T
+ (κ− 1) · dv

v
= 0 ������(

∂T

∂v

)
s,id

= (1− κ) · T
v

������

������

�	� 	��
�����  ����
���
����
� ��� �����
 !���� ����� �	
� "	� #���� #��$�%

�	���
&

−K · ZN ·R · (1 +KT ) · dp
p

+ cp · dT
T

= 0 ����'�(
∂p

∂T

)
s

=
cp

K ·ZN ·R · (1 +KT )
· p
T

����(�

K · ZN ·R · (1 +KT )

(1−Kp)
· dv
v

+ cv · dT
T

= 0 ������(
∂T

∂v

)
s

= −K ·ZN ·R · (1 +KT )

cv · (1−Kp)
· T
v

������

)
��� *��"�
��
� ��� ������
��	��
�����
�+��
�
��
 κ̃Tp �
� κ̃Tv ��"	�

!�� ���( �
� ���� $��� �����
&

(
∂p

∂T

)
s,id

=

(
∂p

∂T

)
s

κ̃

κ̃− 1
· p
T

=
cp

K ·ZN ·R · (1 +KT )
· p
T

1

κ̃
= 1− K ·ZN ·R · (1 +KT )

cp(
∂T

∂v

)
s,id

=

(
∂T

∂v

)
s

(1− κ̃Tv) · T
v

= −K ·ZN ·R · (1 +KT )

cv · (1−Kp)
· T
v



��� �� ����	�
	����
��	�� ��� ��
����	��

��� ��
����	 ��� �������	
	����
��	�� ������ ��
� ��� ��� ������
����

�������	
	����
��	�� ������� ��
� ������ �� ��� ������	����� ������ ��
� ���

���	����� ��
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����� ���! ������� ���������"

κ̃ =
cp/cv

(1−Kp)
= κ #��$%&

κ̃Tp =
1

1−
(

κ · (1−Kp)−1

κ · (1+KT )

) =
1

1− κTp

#��$$&

κ̃Tv = 1 +

(
κ · (1−Kp)− 1

(1 +KT )

)
= 1 + κTv #��$�&

'�� (��	����
 ��� �������	
	����
��	�� ��
 ������� ��
�
 ��� ��� ��
�)

���	
�
����� ���! ������� κ̃* κ̃Tp ��� κ̃Tv ��� ��� �������	
	����
��	�� ��


������ ��
�
 ��� ��� 	���������� ����	�
�! ������� κ* κTp ��� κTv +���� 
��
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�
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��� �����	
�� �
����������	
���� ��� �������
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'�� ,��
�� ���������	 ��
 ����	�
�
 ��
 ��� ��� ��

� 
��
 ����� (��������	

��
 ��
�����
��	
 (∂v/∂T )p = (K ·ZN ·R)/p · (1 + KT ) ��
 ��� ���* ���

��
����
	����
��	 ��
 ����	�
�
 ���- ��� ��� ��� ��. ��� ds = 0 ��
�
������

/�"

dh = cp · dT −K ·ZN ·R ·T ·KT · dp
p

���
dp

p
=

cp
K ·ZN ·R · (1 +KT )

· dT
T

(ds = 0)

dh =
cp ·KT

(1 +KT )
· dT #��$.&

0���� (��������	 ��� 
 �/�+
�
�� 1����2� �/���� cp ��
 ��� ���$ ��	���
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 ���

dh =
κ · (1 +KT )

κ · (1−Kp)− 1
·K ·ZN ·R · dT ������

�	� �
����
� ��� �
�����	� dh �	
�� ����	�
���
 ����������� �
� !������"

∫ y

x

dh = hy − hx =
w2

x

2
− w2

y

2
����#�

$
��� %��&�
��
� ��� 	
����	����
 '�� ���� ����� �	
� �!	�� '��	
��
� � (

)�� ��	���
 *�"

w2
x

2
− w2

y

2
≈ κm · (1 +KT )m

κm · (1−Kp)m − 1
·Km ·ZN ·R · (Ty − Tx) ����+�

 	� B :=
κm · (1 +KT )m

κm · (1−Kp)m − 1
·Km

κm ≈ (κx + κy)/2

Km ≈ (Kx +Ky)/2

(1 +KT )m ≈ [(1 +KT )x + (1 +KT )y]/2

(1−Kp)m ≈ [(1−Kp)x + (1−Kp)y]/2

$
��� ���,
-�	
��	��
� ��� ��-���
 .
�������
�&	
�	�-�	��
 ax �
� ay &	��

'�� ���+ ���
� ��&�	���
 � )�� ��	��� *�"

w2
x

2
+

B

Kx ·κx

·
(√

Kx ·ZN ·R ·κx ·Tx

)2
=

w2
y

2
+

B

Ky ·κy

·
(√

Ky ·ZN ·R ·κy ·Ty

)2
 	� ax =

√
κx ·Kx ·ZN ·R ·Tx

�
� ay =
√
κy ·Ky ·ZN ·R ·Ty

a2x
Kx ·κx

·
(
Kx ·κx

2 ·B ·Ma2x + 1

)

=
a2y

Ky ·κy

·
(
Ky ·κy

2 ·B ·Ma2y + 1

)

������ ���	!� �	
� ��� %������
	� ��� ��-���
 /� ��������
 ��� ���������

Tx �
� Ty 	
 0!��
�	�-�	� 1�
 ��
 ��-���
 2�
�(3����
 Max �
� May &	�

)����"
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Tx

Ty

=

(
1 + κy ·Ky

2 ·Km
· κm · (1−Kp)m−1

κm · (1+KT )m
·Ma2y

)
(
1 + κx ·Kx

2 ·Km
· κm · (1−Kp)m−1

κm · (1+KT )m
·Ma2x

) ������

����� ����
���
���
��
 ��� �������������������� ���  	� ���! ��� ���"

#���
���� ��
� ��� $����	������ ��� 	���	�� %��
�� px ��� py ��&�� %�
���� ρx

��� ρy '�(

px
py

=

(
1 + κy ·Ky

2 ·Km
· κm · (1−Kp)m−1

κm · (1+KT )m
·Ma2y

1 + κx ·Kx

2 ·Km
· κm · (1−Kp)m−1

κm · (1+KT )m
·Ma2x

) κm · (1+KT )m
κm · (1−Kp)m−1

����)�

ρx
ρy

=

(
1 + κy ·Ky

2 ·Km
· κm · (1−Kp)m−1

κm · (1+KT )m
·Ma2y

1 + κx ·Kx

2 ·Km
· κm · (1−Kp)m−1

κm · (1+KT )m
·Ma2x

) (1+KT )m
κm · (1−Kp)m−1

������

��'�
�� ��* ��� ����'������ x = s+ ���� Max = Mas = 0+ ��
�#�� ��
�

*�� ��� $����	������ ��� 	���	�� ,�-���������+ %��
�� ��� %�
���� *�	
����

.���--�����
�(

Ts

Ty

= 1 +
κy ·Ky

2 ·Km

· κm · (1−Kp)m − 1

κm · (1 +KT )m
·Ma2y ����/�

ps
py

=

(
1 +

κy ·Ky

2 ·Km

· κm · (1−Kp)m − 1

κm · (1 +KT )m
·Ma2y

) κm · (1+KT )m
κm · (1−Kp)m−1

������

ρs
ρy

=

(
1 +

κy ·Ky

2 ·Km

· κm · (1−Kp)m − 1

κm · (1 +KT )m
·Ma2y

) (1+KT )m
κm · (1−Kp)m−1

������
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Ṁ = ρx ·wx ·Ax = ρy ·wy ·Ay

��� ��� ���
��
�������
	� ����� �������

Ax

Ay

=
ρy
ρx

· wy

wx

=
ρy
ρx

· May
Max

·
√

Ky ·κy ·ZN ·R ·Ty√
Kx ·κx ·ZN ·R ·Tx

=

√
Ky ·κy√
Kx ·κx

· ρy
ρx

· May
Max

·
√

Ty

Tx

�	�  �� ���� �
� ���! ���	"� �	
� ������ �	� ���
��
#��
�#$���#��%	���
�

��� ����������

Ax

Ay

=

√
Ky ·κy√
Kx ·κx

· May
Max

·
(
1 + κx ·Kx
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κm · (1+KT )m
·Ma2x
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(
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ΔTKW1 < ±0, 3K

ΔpH1 < ±0, 9114bar
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pH1, pH2

��"��
� -�2 '
1...60 bar

±0, 5%EW

�,3 S − 100 -±300 mbar0

pK1, pK2

��"��
� -�2 '
1...16 bar

±0, 5%EW

�,3 S − 100 -±80 mbar0

pV 1, pV 2

����"�� -�2 '
0...6 bar

±0, 5%EW

�,3 S − 100 -±30 mbar0

pKW1

��"��
� -�����
1...10 bar

±0, 08%EW

2	���3�����
 PTX6200 -±8 mbar0

pKW2

��"��
� -�����
1...2, 5 bar

±0, 08%EW

2	���3�����
 PTX6200 -±2 mbar0

pAB1, pAB2

��"��
� -1� !�	����
1...3 bar

±0, 35%EW

DMP3310 -±10, 5 mbar0
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��"��
� -�����
1...4 bar

±0, 08%EW

2	���3�����
 PTX6200 -±3, 2 mbar0
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0...100 mbar

±0, 6%EW

-1� !�	���� DPS1000 -±0, 6 mbar0

dp20,AB

�
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0...20 mbar

±0, 6%EW

-1� !�	���� DPS1000 -±0, 12 mbar0
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( ��	����	��	��
���
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V̇H , V̇K , V̇E, V̇1, V̇01

/�����
�

3���	������
� ±(1 cm/s + 0.01 ·wi) ·Ai

4�������������	��� %��5
�6 (0...30 m3/h)

V̇AB

*���
	�	��
 ±0, 03 · V̇i (50...200 m
3/h)

4'�����  ��� 7�896 ±0, 015 · V̇i (200...1000 m
3/h)

V̇KW

*���
	�	��
 ±0, 0055 · V̇i (13, 3...133 l/min)
4�-: .*�;9�96
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���� ����
��	 �� ��������! ��������� ���� ����	���	 ��� ��������	

������� �
� �
������ �����! "���	������ ��� �������� �	����� �
�� �

�	

�����
�����
����� ��������

�����#����� ����

$��� ��% ��
�	 �
� ���������
����� ��� ��������	�� ���������

$������ ��%& �������� ��� ���������
������

������ ���������
����

'
��
�����	��(���	���������� )	100 *���
��� �
����	��� [Ω]

'
��
�����	��(���	���������� TE ����	�
�
�� �(������ [V]

������	��(���	���������� )	100 �	��� 4...20 mA

���
��������� �	��� 4...20 mA

+�	���
�������
�,����������� �	��� 4...20 mA

$���
���������
�,����������� �	��� 4...20 mA

-�� �� ����� ��� ���������������
����� �
�� ��� �
��� �
� �	�
��.�	��

��� /
��� ��0* 1��	��		�
��
� ��������	! ��� ���  �� �
� ���������
���2

�� �(��
3�
��� ��0* 1������ ��� �
��� �
� �
����� ���������� ��0*

�	�����
���
	 ���	��	� -�� ������� �
�� ��� �� ����� �
� �����	����� )��
2

(���
�����	 '$2004 ��� /
��� �
����� ��������	! ���
��� ���  �� �
� ���2

������
����� ���3���
������� '���	���
���5
��� ��� �
��� �
� �
����� ���2

������� $���
������
� ���	��	�

��� ��� '� ������ ��� �������
����� ��������	� ��	�� ����	 ��� ���
	 �
�

������ ��� ��� �
�
	���� ������	���� ������ ��� ������	������	������ ���

"�� ����� �	������� '
���
	�� ���� 4
����
6���� ���
�,���	 �
� +������
�2

��
	�� ��� ��	���� ����� ��� "������
	��� ��	�
��
����! �� �
��� ������

��� ����	������ ��� (�.�
���
�
��� ����������

�� �
� ��7
���� ��,5���� ���

8���
�
��� �����
�����  ��	���	�

$��� ��9 ��
�	 �
� �

� ��� ��� ������	���� ������ ��� "������
	��� �����2
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�� ��������	
� �	
 ��������
���	��	 ���


�	�	 �
	��������	 ��	����	�

������� ���� �	��	��
���
��	 
�� ����	�������	��

��	��� �	��	��
���
� f

���������	
��
�
��
��


�
	��������� !��������	����	 "�100 ±100 mK
#$%&' (��  � 750− 461)

%	������ !��������	����	 "�100 ±100 mK
#*��+
 *��+��, $%&' (��  � 750− 455)

�������	����	 1...60 bar ±14, 4 mbar
#$%&' (��  � 750− 455)

�������	����	 1...16 bar ±3, 6mbar
#$%&' (��  � 750− 455)

�������	����	 0...6 bar ±1, 6mbar
#$%&' (��  � 750− 455)

���������
��
�����
����������

�
	��������� !��������	����	 "�100 ±100 mK
#$%&' (��  � 750− 461)

�
	��������� !��������	����	 "�100 ±500 mK
#�
� �	� �������	
������ ET200B − 4/8AI)

�
	��������� !��������	����	 TE ±1 K
#�
� �	� �������	
������ ET200B − 4/8AI)

�
	��������� !��������	����	 "�100 ±30 mK
#$%&' (��  � 750− 478)

%	������ !��������	����	 "�100 ±104 mK
#*��+
 *��+��, $%&' (��  � 750− 455)

�������	����	 1...60 bar ±14, 4 mbar
#$%&' (��  � 750− 455)

�������	����	 1...16 bar ±3, 6 mbar
#$%&' (��  � 750− 455)

�������	����	 1...10 bar ±4, 3 mbar
#�
� �	� �������	
������ ET200B − 4/8AI)

����������� 	
� ��
����� �����



��� �� ������	
��
 ��� ���������	
�����

���	
�������� 1...4 bar ±1, 6 mbar
�������� ���
�����
���	
 ET200B − 4/8AI�

���	
�������� 1...3 bar ±1 mbar
�������� ���
�����
���	
 ET200B − 4/8AI�

���	
�������� 1...2, 5 bar ±0, 7 mbar
�������� ���
�����
���	
 ET200B − 4/8AI�

�����������	
������ 0...100 mbar ±0, 05 mbar
�������� ���
�����
���	
 ET200B − 4/8AI�

�����������	
������ 0...20 mbar ±0, 01 mbar
�������� ���
�����
���	
 ET200B − 4/8AI�

����������������������������� V̇AB ±0, 52 m3/h
�������� ���
�����
���	
 ET200B − 4/8AI�

����������������������������� V̇KW ±0, 07 l/min
�������� ���
�����
���	
 ET200B − 4/8AI�

���  ������������ ���	
 ��� ���������� !���"
�������#� ��200$ %&
�� ��

��� �� ���� ��' ��������� 
�
�� (��������
��� ��� ��� ����	
�������"������)

�������� !�100 ��� �
������������� ��� *�����#���&���������"�&%�������

��� (��������
��� ��� *��������"�������������� !�100+ ����� ������� &���

���� �"������� �������%������ ��%�������� ��� �� ����� ������� �	
���� �� ���

,*-. /������ �������������� ������+ ����� ����%#
� �� ��� -�01���������

��� (��������
��� ��� !�100 ����	
�������"��������������+ �� ���	
 ��� ��)

���� �������%������ ��� ������������ ���������"�����������	
 ������	
�#�
�

����� $�� �������	
�� ���������"�����������	
 �&��� ��	
 ��� (��������
���

����� ���	
�� 20���� &��� ���� �������%��
��� ���� �������������������3�)

���� ������	
 �����01����

��� �	
���������� ����	
�� ��� ,*-. ���������
��� ���� ��� ��������)

���	
 ��� ��� ���������������������%����� ���� ������� ��� !�������� .!4 �


����������+ ���	
�� 5���� ��� ��%���������� /����������� ���� ���������

*������ ��������

6�� ��������������������� ���� ��� ��%����� 2������ ��� 7���� 8������� 9�)

��������� ��� ��� ����)+ :��������) ��� *�����������������	
��
 ����������

��� �
�������� ��� �������+ ��
� ��� (���	
���� ��� ��������������� ��� ��)

������� ��	
�	� �	
 ����

�	� ����� ��� ������� ��	�����
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#��$��
�� ��������

���� δz %

�&�	�!�	
�
�� ��������

���� δs

�

�	 ����������

�&�	�!�	
�
�� ��������

����

����������

�&�	�!�	
�
�� ��������

����

�������	� '���� ������� �#�� '���� �()��
!��	� �
�� !
	 #��$��
��� ���

�&�	�!�	
�
��� ��������

������ �����	�	� ���
� �
� ���
��
����� ��� ����%

	�
��
�* ���� ��� ��		� ��� +�������* +
����������!� ��� +
����,������
	���*

�$��	 �

� �
� ���������� �&�	�!�	
�
�� ��������

���� 	�
���
�� ����
�
����*

������ �
� -������#������ ���
������ ��������

���� ���� �
�� �����$��
��

��	���� #�� .��	
!!��� ��� ������ /��	�� #�� 0���1���� �	��	�

��� ������	�
��
�� �
���� ��������� ������

��������� 	�

��
���������

x ��
 �
�� �
���	 !������� )�&�
���
�
�� 2�"3�* �
� �����$��
� ��� 
���	
�
�

,��	�
�	 
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√
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ρ = −0, 0012 ·ϑ2 − 0, 5195 ·ϑ+ 1083, 6 ���3� 

cp = −0, 00002 ·ϑ3/3 + 0, 007 ·ϑ2/2 + 3, 1807 ·ϑ ���3� 
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Q̇ = ρ1 · V̇1 · (h1 − h2) .��/01

Q̇ = ρ1 · V̇1 · cp,12 · (T1 − T2) .���21
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H

Δ
h
=

(h
2
−
h
1
)

u
2 Δ
h
=

u
2 h
2
+
u
2 h
1

Δ
T
=

(T
2
−

T
1
)

u
2 Δ
T
=

u
2 T
2
+
u
2 T
1

π
s0

,s
2
=

p
s
0

p
s
2

u
2 π
s
0
,s
2
=

u
2 p
s
0
+
u
2 p
s
2

π
s1

,s
2
=

p
s
1

p
s
2

u
2 π
s
1
,s
2
=

u
2 p
s
1
+
u
2 p
s
2

π
s1

,s
0
=

p
s
1

p
s
0

u
2 π
s
1
,s
0
=

u
2 p
s
1
+
u
2 p
s
0

Δ
μ
=

(μ
si
m
−
μ
)/
μ

u
2 Δ
μ
=

2
·u

2 μ

Δ
Q̇

=
(Q̇

si
m
−
Q̇
)/
Q̇

u
2 Δ
Q̇
=

2
·u

2 Q̇

k
=

Q̇

A
·(Δ

T
m

a
x
−
Δ
T
m

a
x
)

ln

( Δ
T
m

a
x

Δ
T
m

in

)
u
2 k
=

u
2 Q̇
+

(
Δ
T
m

a
x

Δ
T
m

a
x
−
Δ
T
m

in
·u

Δ
T
m

a
x

) 2 +

(
Δ
T
m

in

Δ
T
m

in
−
Δ
T
m

a
x
·u

Δ
T
m

in

) 2 +
(u

2 Δ
T
m

a
x
+
u
2 Δ
T
m

in
)



�� ������� ����	
���� �
�

������ �

��	
��� ������	

�

�
 �����
��� ������� �����
 ������� ����	
���� �
� ����������� �		����
��


��� ���������
� ��
 �
 ��� ��	��� ��� �������
 !���" �
� #���
�
������	
��"

��
 ��������

��� ������� ��	�
����� 
�� �
	��������
���

���	��	

�� �����
��
 �	���
��� �����
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% ������������

����� �����	
��
���	
���
 �� ����������
���

&��� �
� '�	�� ()*�+, �
���� ����
 ��
 ����������� !����� ��� -�������
�

��� ��
�����
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��� ����������� ��	 ����	�	���
���� �����������
�	����
 PeKm ��	������ 
���

���

PeKm =
4 · ṀKm · c′p,Km

π · dKm ·λ′

Km ·n
��� ����������� ����� � 
��� �� ��
� ��	 9, 4 · 103  !	 ��� ����
��� �"#�	��

������� �	��������� �������������

��
�	$� ṀKm %$� 0, 0888 kg/s ��
 &���

'�(' ��)� �� 3, 8 · 103  !	 ��� 
�	��

��� �"#�	�������� �	��������� ���������

�����

��
�	$� %$� 0, 0358kg/s ����	 ��	 *�	)�����
 ����	 
#���+
���� ��	�

����#������ ��	 �����������,!

�
���� c′p,Km %$� 1350 J/kgK ��� ����	 ��	�

������ ���
���� ��	 �����������,!

�
���� λ′

Km %$� 0, 09W/mK�

��� -�
������
 ��	 .��#�	���	��/�	��� ΔTSZ )�	� ��
$ ���� ��� �	���	���

%$� 0��� ��� ����	 1(2345 �� ��� %$	���
����� 6���	
�����
�� ��	�� ���	���


��� 7������
��� �$�����	�� 8!	 ���
�� 8��� 
���� 
��  $�
���� 9�

��������

��	 -�	������
 ��	 .��#�	���	��/�	��� ΔTSZ ���

NuSZ =
Q̇

n ·Lm · π · dKm ·λ′

Km ·ΔTSZ

= 455

&�
 ��	 9�

�������� NuSZ ��	������ 
��� ��� .��#�	���	��/�	��� ΔTSZ

 !	 ��� ����
��� �"#�	�������� �	��������� !��	�	�
���� ��	��
�	$� Q̇ %$�

20, 5kW ��
 &��� '�(: �� ��
� ��	 9, 5K ���  !	 ��� 
�	��

��� �"#�	��������

�	��������� !��	�	�
���� ��	��
�	$� Q̇ %$� 7, 5 kW �� 3, 5 K�

��� ���������������	�!����
�� ΔTH %�	���	�� �� ��� �"#�	������� ;� ����

����	�	���
���� ������������	��� �)�
���� 65K ��� 90K� ���� ��
 %$�� ��
�


��������< ����	�!����� 0�	����


����� )�� ��� ��	 ��#�	�
���� �$		�����$�

%$� 0��� ��� ����	 1(2345 ��	������ �	
� 9, 5 K ��)� 3, 5 K %$	 ��	 0���

��
��

���#�	���	 ���
������ )!	��< �������� ��
 ��� ��� ���������������	�

�!����
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 �
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*�	���# ��
 ����� ��� ��#�	�
��� �$		�����$� %$� 0��� ��� ����	 1(2345

)�	� �	$�� ��	�	 �� ��	 =���	���	 ����	 )����	 ��	��

�
������� ��
���
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��

=�� ��� -����$/< (22�> 0�� �� ���< �??'5 ��
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���� 7$�

���� %�	)�����< 
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����� wAb,m �
� ��� ��������������� wWG,m  �� ��
 !������ ��"�����
 �
�

��
�����
 �	���� �
� ���������������
���#� ��� �		� $�% �	�� ��� 
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wWG,m(ṀAb,max , ṀWG,max)

wWG,m(ṀAb,min , ṀWG,min)

wAb,m(ṀAb,min , ṀWG,min)

III,1I,3 II,2

wAb,m(ṀAb,max , ṀWG,max)

�		����
� ���' (������� ������
���������
������� ��� �	����� wAb,m )Δ*

wAb,m +ṀAb,max, ṀWG,max-, o* wAb,m +ṀAb,min, ṀWG,min-. �
� ��� ��������

�������� wWG,m )x* wWG,m +ṀAb,max, ṀWG,max-, �* wWG,m +ṀAb,min, ṀWG,min-.

�	�� ��� 
#�������
 �&����������#���&
�� (Lx/Lm)�

/�� �������� �	���������� ������
���������
������� 	��� 0�����	�1�
�� ���

"�����
 �	���� �
� ���������������
���#�� wAb,m(ṀAb,max, ṀWG,max) 
����

�
 ��
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 ��� 
#�������
 �&����������#���&
�� (Lx/Lm) �� ���
� ���

����
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 ������
��2������
���� ��� 3�����
 4#��	�
���� B2Ab,l +��- �� 5���

������ 3�� �����
 4#��	�
��� B1Ab,q1 +�- 6#
 34 m/s �� 38 m/s 3� �
� ��
��

�
 ��� 7#��� �� ���
� ��� ��� ��� �	�����
� �	
����
��
 �	��������� �� 

35 m/s�
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�� ���
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���
��
��� B3Ab,q2 ����� ����	 ��� ��
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�
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 #��
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 ���
��
��� B3Ab,q2 ����� 	
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��
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 $	
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��
��#��
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�
� ��
 '�
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 ���

�� �
�	�
 ���
��
��� B1Ab,q1 ����

 �� ��		��
� $	
"��
�����&���
������	 ��� (�����		��� wWG,m ��	 �
 ��
 )�%


��&��
 ��
 
�
���
	�
 (��	���		��
��
��
�� (Lx/Lm) �
 ��	�
 *���
�
� ����

)�	
����+�
�	 ��,�����
 ���� ��
�����
 !����% �
� (�����		�������
�	
"%

�� ��� 1, 48 m/s ���� 0, 24 m/s ��
�	�
	�

 �� ��		��
� $	
"��
�����&���
������	 ��� !������ wAb,m ��	 �
"-�
 ��� ���

��		��
� $	
"��
�����&���
������	 ��� (�����		��� wWG,m�
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I,3 III,1II,2

ReAb(ṀAb,max , ṀWG,max)

�		����
� ���& ���
����������
 ��� �	�������� ReAb 'Δ( ReAb )ṀAb,max*

ṀWG,max+* o( ReAb )ṀAb,min* ṀWG,min+, �
� ��� ��������������� ReWG 'x(

ReWG )ṀAb,max* ṀWG,max+* �( ReWG )ṀAb,min* ṀWG,min+, �	�� ��� 
�������

��
 �%��������������%
�� (Lx/Lm)�

-�� ��.�
/����
 0��	�
��
����
��
 1!��2��
 ��
  �!������
 3�����!����


���
�
 �
 �	���� �
� ��
 �����
��
 �		����
��
 ��� 3�����!���� �	�� ���


��������
 �%��������������%
�� (Lx/Lm) �������2� ��� 4���
�����
� 	�� ���

�����
�
� ��� ����� �
� 
�2�� ��� �
���.������
 1!��2��
 ��
 3�����!����
�

-�� �	���������� ���
��������� ReAb !��� �
 ��
 5��� 6�� �	��� �
���

���7���
 ����	�
���
 B1Ab,q1 )�+ �
� B3Ab,q2 )���+ ��� ��� 8��������
����

Ψ �
� ��� 9	�����7��%
�� L3 
�2� :�� ���; ��	����� �
� ��� ����� �
����

��<
���� ��� �� �%
�� �
�����7���
 ����	�
��� B2Ab,l )��+ 
�2� :�� ����

-�� ���
��������� ��� �	�������� ReAb(ṀAb,max, ṀWG,max) ������ !�� ��� �����

���� ���7��
�����2�!�
���/��� ��� �	����� wAb,m 	��� =�����	�.�
/� ��"��

����
 �	���� �
� ���������������
������ �
 ��
 =����2��
 ��� 
��������


�%��������������%
�� (Lx/Lm) 6�� �����
 ����	�
��� B1Ab,q1 )�+ 1�� 1!���
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��� ���	������ B2Ab,l ���� ��� 
���� ���� �� �	����� ���	������ B3Ab,q2

������ ��� �������
����� ��	 ��
�

���� ReAb(ṀAb,min, ṀWG,min)  �	�!�� 
�"�

���� #��	���
$���� ��������� ��
�
� ��� %�����������

��
�	��
 ��"�� &��

��� ������	� '�	(���


�
"�&����
���� ��
 ��
�
�
 wAb,m) 
����	� 
���
�  ��

�	
��� ���	������ *�� *&����� ���	������ ��� 
���� �� �	����� ���	������
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�� �� ,�	
���"� *�	 ������	�� '�	(���


�
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PrWG(ṀAb,min , ṀWG,min)

�		����
� ���$ ���
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 ��� �	�������� PrAb %Δ& PrAb 'ṀAb,max(

ṀWG,max)( o& PrAb 'ṀAb,min( ṀWG,min)* �
� ��� ��������������� PrWG %x&
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ṀKm/(g s−1)

Δ
p
K
m
,H

/
m
ba
r

�		����
� ����$ "����������������� ����� ������� ΔpKm,H !	�� ��� "��������

��������
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����� ṀKm �	�� ��� �	��������
�����
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���%� ṀAb ��� ��� �	����������
 ��
�

���������������� ϑAb,e ��� &�������� ������������

150 200 250 300 350 400 450 500 550 600

2

2.5

3

3.5

4
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